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Answer:(b) Ljoifi+ QLD + S&THI

54. @0 owpsal @ GompPluier GClummer $@was: GLo
(@) eIy

®)  epLi

(c) LbHeD

(d) GaLd

Answer:(a) 9JedTL]



55. Qumrmsgs

(@) Gauiyelens oearl)LienL_ - 1. 6T/B17B1%) 60D 61 GIT

(b)) QevestlenF oerGlLIeHL - 2. UIGTENFD)

(c) Garedalens ardLien_ - 3. Qs@LLgGT2 LD

(d) @UDerTelLIcHL - 4. [FGOGV LIL_T9] LIGHD
A BC D

@ 4 3 2 1

b 43 1 2

© 1 2 3 4

@ 1 2 4 3

Answer: (@)4 3 2 1

56. 6TQIGIGNS QUTSGNULD 6Te8S HEUTO)L_(LpSI%

SBOS LOFGH G [FGTD TS LILG ST HUSS TT

(@) 9p aflewest
(b) ST @few et
(c) QFwiium ® aflenesr

(d) Qaul afenesr

Answer: (a) 9D aflener



57. “oewr Desslips BleveyiLd,
BlevasT B w @fFHLOLILD”
GI&ID  LDBTIOmILl  UTLe eyl  pIEhRWST  (LPLYBTSITWTTE)

Lmgml L LI L 9 gFeeT?

(a) HH%HTEVET

(b) 2 FwehCFTevTSHcHT
(c) OB®Heh6FL wce
(d) Guser

Answer : (b) 2 Fw@h CFrevng 6wt

® ppTpPleT @QuewrLmd  uTl ()  awFewnllbs  Blevaild  6TeS
Car_mGeug. QuUuTger AT PprehPWd P BTSITwE. QUiLim (b
Gagiomesr OLiheyCFmwmr 2 Huwiey CFgevngemest Crra® Ll LT L1 QLIPDS].
Loew Glewllbg BleweiLd,

Bl6vesT TP @& LOLJLD,

Qi FLOL] G au(h euafuyLd,

aeflg @ SujLb,

58. L9evrau(pLd 6ThG HIVE6Ned FEIGHTQ @EOTENWTT LIMYW LITL 6DEHENET

& ITGSTGVITLD.
1. ypprermi
2. poDPlenewt

3 GmIB0sTmS

Flwest aflew_ewwg Csiay ClFuis.



@ 1&2 il @b
b)) 2&3 L @b
(c) 3wl _(pLd

(d) CLopHesTL_ 2)eh 6 TS S LD

Answer:(d) GLODFHGHTL_ 360 TS G LD

59. "&mGov LMLl LerGou &enrGewt
Gprss Crprss eumraflpp HerGeu”
erasIp LIML_adled @)L 1bG)LimiLd Lif) eTaTeyid GC)Fmed GmILiLIg)?

@ GSog
(®) B

(©) BdL

(d) Osmeni_

Answer :(c) L

Explanation :

STGe LIfGLI 19erGar % esrCevr
Crrs& Crrss auraflypn searGe
95615 @fgLD LI evT L evTlgglLD
LGy e alal ajevssgiLi LipG.
- GOIBOIS TS
QP Qumaper: Lifl = v



60. Y&sLGUTBeTUPPW LT @&F6T elallgid yaupmier LpLiG)LIT ger
OFUIH%@pLd FLOPS UTVTPDIS GPILILEE@HLD @)L _Lb6)LID g eTeT HTev?

(a) LI LImL_6D

(b)  pHPlev e
(©) GniB6lFT®S
(d)  HSBTIMI

Answer: (b) 501w GsT

61. QurmsEs.

1| umdGlwmflg si9evesr SSIT
2| VSIS FLNV6ET ©)LI (1 BI(GHTMTTS F)Lp T
3| Oeumgs Gserall alersi@ | @erm&gerTi
L% HLIeveT
4 | OQumdwm praip sLfevesr orGmI$355 %] [bLILIF® W TT

slwms QummpSuyerer @eenrenw Cgiay O)Fuis.

(@) 1w HLd

B) 1&3 L @

© 2&4 1wl @

(d) CLopHesTL_ oe»eTISSLD

Answer: (d) GLDD F6HTL_ 260 GOTS G/ LD



62. SOBGULPTTH STRT LOETBS @HTATOD - @LILITL 60 Iy sHafier gFRNwy

wmg?

(@) 5SS GHTew GOTIWI T

(b) LDGIGHT LOGTGTGSTTL

(c) BHGGIH2 G Fewawimg
(d) s9evd

Answer: (d) s19e7

63. BpaeiL yiysafied LulleTniaihLd eT6lLIGHL wiTg?

'GUSLP@)E CHrev g&FHLD’

(a) QeratlenF ardlLicnL
(b) Glauiyefens oemblLienL_
(c) Qareallens yarb)Lien_

(d) @UDerTelLIcyL_

Answer: (c) GFmadadllens 9ard LIenL_

64. smal, sHSST- QaialgasenL_ oL HILD 2 wrisgILd CaupmienLo 615?
(a) @uoesr_md Geupmien Lo

(b) epeipTLd GoummienLn

() mrersmw GeupnpmienLo

(d)  <prd CeupmienLo

Answer: (b) eparprd CaupmieoLo



65.

(@)
(b)
(c)
(d)

Fne0% - 2_flw gL FelFTveme CFray ClFuis.

I QLD
FHFILD
GLpDILD
9FYLD

Answer: (c) GLODILD

66.

‘Snacks"- eT@Ip BB CFTOMNDEG CUTBSSLoTT FLOHEF GClFTvmvs

GCss.

(@)
(b)
(c)
(d)

G i evsrLy.
G my st
ik pY

FIreeT 2_cwTa)

Answer: (b) & p I eworT

67.

& LD LIJITLO ITW 6T S 5) GoT GTLD ITI51 S5 TGSSTL_LD [TGST

Qupplwas?

(@)
(b)
(c)
(d)

SLOLIT
L& GpSLiLjewaf
RLL_BFnSF T

OEMANOE G 1

Answer: (c) RLL_EFmFST

2 330

EMHTL_F G



68. ‘SIS FLOWSSTHGT SEEHATEHFILD’ TRTD] Y OLPSHELILIGILD BI6V?

(@) @ Fesflu wnsSHeLd

(b) G LbLImTevcws]

() GuswCsLd Gmelehd

(d) %8G I WLDLDTGT LDLD TEH G5

Answer: (b) GgLbLITeUGsH

69. umg@umg ClGmL_fLimes LAGTaUIHLD Fn ) DIFH6H T H616HT):

1. @oeug umGd FHPr FUGCLnunsSwumug eripSw “eupGs waSgLd”
eTaTen/LD LITL_ewev O)LomfO)LIwfs s mi

2. umg@uwmrg wgieguiled 2 erer CFgLB) o wipleoevLl Liataflulled & Mwigms
Liesstlwi mp g et

3. FaEI0ISFe eTein LSS Hewsuilert o Fai oL FFwgns Liesilwmsplesrs.

CupseTL & ppsaie FRlwnarens Czie) ClFuwis.
(@ 1l @b

(b) 11opmid 2 L (HLH

(c) 21opmid 3 L (hLd

(d) CLopHesTL_ 2enesTSHLD

Answer: (d) GLDD)&GHTL_ 2GS ] LD



70.

@6 pmid Ourmer GaumyLim_pPlFev

Lewpsarpp CsT_engs e _pPls

(@)
(b)
(c)
(d)

61657 QfL_(hS CHML LGBV LoTIFH6T LDGSTLD @fF) 6ot
61631 @fL_(h% BT L_SF6V LDV IHGT LOGRTLD GG 6ot
61687 QL (H% CHTL 1L_SF6V LDOTIHGT LOGTLD @I F 6ot

61631 @fL (% CSHML L FF6V LoV IFHaGT LOGTLD @FF) et

Answer: (b) o168 @fL_(HS CHTL_L_SF 60 LOWIHaGT LoGwTLD @fF 6t

71.

(@)
(b)
(c)
(@)

9IRS 0S (oI5 : CFpOlBpsL B

QFBCBD + L3
OFa + Oped + SL B
OFbemio + Glped + LB

Q&g + Opw + LB

Answer:(c) Gl&LbemLo + Gpad + SL_®

72.

(@)
(b)
(c)
(d)

(@)
(b)
(c)
(d)

Q\&mev - Clmper - ClLITHS SIS

GasgLd - Gasib

OFQFVEIF) - Tl L LD

Meresrtd - FHwsk

UTS - 0SB ES
A B C D

2 4 1 3

2 3 1 4

4 3 2 1

1 2 3 4

Answer: (A)2 4 1 3



73. sflwnew CFML_ewgs SessT(HLILg

(@) B RH S LPFHTET 261
(b) G RT LPSH TG 2a1[]
(c)  900%FI @ D LPFHTET e[
(d)  200%& @I SLpSHTGoT 2anfj

Answer:(d) 9J0%FI @ IJLPHTeT 201

74. &7 auflewFLiLig CFmpEeners &7 O)Fuis.

&F% Bever, O&mbL, senal, OVFmLIL)

(@) Se®6u, Fewar, G&am ClsmdL), ClsmLiLy
(b) seael, Hewer, &I ClamLiLy, C&mbLy
(c) samal, G 0FmbL, CsTLIL, Henar

(d) semel Gewer ClaaLdL), OFHTLIL), G

Answer:(b) e, Hener, & C\&TLIL, OVFMLOLY

75. Wa3IEGLrgHauls erenargsillenpll UTgw GLIGOBUIT LDBS
B (e @GewTL_LD LIGTaIHLD 6ThS BHSHmTUie) 968 LDBSIATATS?

(@) »ale®s Ml
(b)  SmLO)gLgesst]

(©)  wewflepgsmi
(d) GangestL_gmio umi

Answer: (b) smLO\TLITesi]



76. BEhewFeW YT FFGLITE LOGTEI(5%5E 2 DD HETLITTS @il ars & weg?

(@) BAFL_grsFLing seflgmw g
(b) Ceuspmwss F1g% Hwi
() vl L 6oL & QOFT1s%BTST

(d)  &LIGHBUIT

Answer: (b) Gaugpmws F13S MW i

77.  (pevemev eTaTn @)sLlewT 9 Fflwg wimy?
(@) SI®ITITSH

(b)  (ps@SWT

(c) NBSSTFLD
(d) greGsmLimevest

Answer: (b) (LpS®SWT

78. SpERgTLILIGTANSEG HBF® YHYMLOBGIGTT VTHD “BHaIaTEnaT

BUFFTOV” QTP I e»LOGF (HLILIGIT WITF?

(@) LvauF & .JLILITSHS|6® TW T
(b) GumesT(LpLg wimy

(c) S(BBTNSHFHTFH

(d) Qo ()eTmi@LogeTT

Answer : (d) @) . ()eTsIELOIGTTH



79. BLHESIL_QUPDIGT Genev auangsafied CFTL_jLlevewng CFme e1g) ?

(@ GCs135
(b)) SHalemal
(€ SAvG
d) i

Answer : (b) Sala®6u

80. Ggarener, uUeer (wsSlweupPer @erd  LIehEF  eTaleuTml
D PSESLILIQE SIDG ?

(@) SH@HLoeoLI
() mipmu
(c) FHalemal

(d)  aps

Answer : (a) G@HLOGOLI

81. SO LoD WTRT HHSEGSDMTS SbS “BHeuaT@seus” 6)Liwfed
3 SL0HE Fewllesl] 6TBS yesr(® 19 8. 611d. CLL L m OgTL_S1L 6 eTavTey)Ld
Saflwmg BlpieueTLd epevld o (HeaurEE) aflpLIcnars @ s ClsTeaT(h) abSSl ?

(@ 1953
(b) 1963
() 1973
@d 1983

Answer: (d) 1983



82.

(@)
(b)
(c)
(d)

STUISH T L96h% auenss@par @)L LH6lLpTs GlFnteveme Gshp0)%®H

e
eLp T
FaID

STyl

Answer:(d) $mmi

83.

'YW 2 OIBdL GTRIGYILD FIVISHTE FTHSHW 9 5T6)FL0) il 1556)LIp LY,

Q@aflag@d Bleneasar, eIBIOEEIG STesigild, WIGLOTH BSIDTULI (LpSEW

BIovsemarud @Qupplw OLipenLod @G Hweud wmi?

(@)
(b)
(c)
(d)

@) @)eTmIG Lo geTT
Q)75 mIF GOTIT
6TLAI) (Lp B &V 6L BT

& GUST GBI [TFGOT

Answer : (c) eTfleV(LpS 606U GET

84.

"GO\ T} LS& Lemauntis OFaIped” erarp eufiEer 61bg MmIedled

@YU LiuL” B eTerg)?

(@)
(b)
(c)
(d)

Gous FBSmLoesel]
LD LIJTLD TWIGSSTLD
FeLILIFSTILD

Lot Lo F 69 6V

Answer : (¢c) AewLILISESTTLD



85. gy eweawentl wWlewergsmard 98853 GO LigLiLTewTy  eTeL
Lewpssmi 9Gps grEGs!- @)aleuiyser @)L LOGCILIPILD FT6D ?

(@) 9psi Herenarall® 1l
(b)  SLOLIFTLOTUIGSTLD

(c) & BISSGHILILITewT

(d) Fous@Esmoeud

Answer: (c) @) BI&SSLILITeHssH

86. e flensFwmul @eFLILIWGTTUI ()60 D 61N 6OTS HEUTL_a[?
(@)  BBBISESEIFT

(b)  B(BEHIFLOLIBST

(c) &BSII

(d) LoTeslBHMTFST

Answer: (c) &BSTT

87. &LOLIT 6TbS BIL_GOHL & FTIBSAUT 2,6 TH?
(@) Q&g pr®

(b) Gamp Br®

(c) wumessTLgw B

(d) ueeal BT

Answer: (b) Gamp BI®



88.  L9vrev(H a6t M) i B0 auengEemawmi QuppPlw

@ L HO\LIPILD BTOEGT 6Temau?

L ypBTEImI

2. B (BeUATEH6LDTEHGV

3. eoposTems

FHlwestt aflew_emwg Cziay Cl&uis.

(@) 1oL Lo

b) 1&3 @

© 1&2 Ll @

(d) CLopHesTL_ 2en6sTSHLD

Answer: (d) GLoD)SGHTL_ |0 GISHHILD

89. &7 uflen&Fulled 9 eoLDBGIGTOTeNS S &GSTL_ D%
(@) LeTsgwd, (ppET, LBflensd, GLo(®h LieTarLd
(b) eTsgwd, LBflens, (pkbh, GLo® LeTaTLd
(c) BLblews, (ppbh, wesgwd, GLo(h LeTarLd

d)  wppbi, LBidlews GLo®LISTETLD, LOGSTSS W [

Answer: (b) ewg gy, LiLflens, (LpBhE, GLo@ LIeTeTLD

LITL_GV%GIT



90.

(@)
(b)
(c)
(d)

ep@ILy F AP neenew mul LITGLD LIT 6T606u?

O ouesTLIT
QAN WL
SSLILIT

UGHFILILIT

Answer: (b) QP AwLiLIT

91.

(@)
(b)
(c)
(@

S BISSGILILIgesst] LITL_LILIGLD LITQIHS 6Tenal?

Fpg10BSSLD

FL LT H605 5O
FF S TLflenF

2 Gl BB B L

Answer: (c) @S MHenF

92.

S a0 % =

(@)
(b)
(c)
(d)

FRlwner Qwssend GpPlLieoLL CLIT53S%.
L F0)&mg 1. FmIO&L L eTSFoewmLl O Liw Q) ggaLd
Gsm Loesteerm 2. LTS 0% men %
& GBSTLD GBI GV 3. aflewenrs 0)gmen s
OFuiGlF TV esT 4. 916 TS 6% Tem S
ABCD
4-1-2-3
2-3-1-4
3-1-2-4
4-2-1-3

Answer: (a) 4-1-2-3



93. BPHETL_ FnDDISHE TS oG :

(1) Q@oeuj 2 HW HIYI, GCTHTH®a 6IRILIG), LOSLGHeIEHTF (LpFedl
BIVEHEGTLI LIGH LS| GTATTL.

2)  Q@euflest B Gmar QowiiOLITEEEe T, FLO(LPSFHS F(HRYeVLOTU

<2 GO LD [bF| GTGTS).

(3) Qg BI®OEHET BIL (6D L_6WLOWTSHELILIL (hGTETEHT.

GLoP ST Fo P MISGT WTIHL_GT OB ML_JL|eHL_WiGwT?

(@) BILSEHV Fei@Ehi

(b) FEFSTGSTbS T

(c) umuewGrm C\LIh6hFS B gesmi
(d) GzseuGruwiLl LimaumesTi

Answer : (c) ureueGumy C\LIMHEHFSS ety

94. “sLOfled LB HwTL@RSSLILL BHS SL0(1ps%Cs FpLiLims

2 flwesairssd SmSLULIRL OCFTp&er L GLADS CsaEI@, HeTeTL Lb
wpglw Lp Forail CorflsEens @ Rwerarss

SBSLILIBLD O FTPHSE@E5Ld SO 2 ar" eTaTn] FnPlWey WTH?

(@) momev LTS flwmg
(b) &) .uy.GumL
(c) LOAFHeW (LpVGVT

(d)  F1e0® 6 eue

Answer : (d) &m60®H)6)aucw



95.  Oxymoron 6T&iID Y BIHWF CFTONIS G Q@)eewnTwiTeT FLOLHFO)FTD ?

(@) wpuewTLI(® GlouitbemLo
(b) GlFmed(LpyeusT

(c) e1@lenenT @ emTFay
(d) CLopHesTL_ 615 aL5)e)6® 6V

Answer : (b) C\&Fmed(Lp TessT

96. ST GTHID C\LIW (He» LW @)GVESHeHT BIT6D
(a) GpLiBISLD

(b) yallpwid

(¢) afy CFmluwiLd

(d) GgrevsmLiuwd

Answer: (a) GBLABASLD

97. ala@gwGampet, @ uewrLmd &CTSgIEIser, @)L _MLD (@)FTFTTFeST
AFW epSTIDI LoGvTesTISeM 6T el ClFaweundCar® aflarmi&w eus?

(a) &LDLIT
b LGS ea
() RL_EFS ST

(d)  QaFwmiC)smesT_mr

Answer: (c) RLL_SFnGST



98. GlgUicus Hall@Ehl 61aT 9w psELILIGLIGIG?

(a) LDTGSIBHMTFST

()  GLIGWBUIT

(©)  DBBTeSEIFI

(d)  9LpB W DT TOTS TF T

Answer: (d) SJLo&W LOGRTEUTATS TF T

99. samaumens Gl IMWBSSTUL FVTHNIF O\FUISSET FomLD FEIEHTGLI

O LeRTLIMD Ljeveug?

(a) SMTFHeSLILITLY GslwmT
(b) HTE®ITESHTGVLDEH LOWI T
(c) BLLUFWT]

(d) Gleuated afBw mi

Answer: (d) Geuairefl afBw g

100. 8psEesst_ O)Fm_fer 94, 0Lweny Csiay ClFuis.

' T[T 3 TGO

(@) Sewerwm@LIG LW
(b) QagmplewrgLibluwg
(c) wuesTLITGLIO LW

(d) SmeveurGLIG LW

Answer: (d) STeauTGLIGLIWF



101. Select the incorrect pair (s) :

1. Sama Veda - musical notes.
1I. Yajur Veda - rituals and hymns.
Il Atharva Veda - philosophical enquiries.

(a) IandlIl
(b) Ionly
(c) Il only
(d) Il and Il

SaUpIaTR)enenten /@) enemraemars Gz in6)s (b

I #m0GeugLd - @ FLILITL_OS6T

I weg® g GeugLd - FL_BIGSAT LDHMILD LITL_GUSHGT

1l 95560 GougLd - $53IAUSF(KGGIFHGT LODMILD ) GTTHS T
(a) [andIl

(b) Ionly

(c) I only
(d) Il and III

Answer:(c) III only

Explanation :

o The Sama Veda was composed in musical notes.

The Yajur Veda has rituals and hymns.

The Atharva Veda contains charms and magical spells.

Upanishads deal with philosophical enquiries.



o FTGeuSLD Q)ENFLILITL GOFHETTSH LD bS] OTOTS
o w9 CousLd FLEIGH®aTLD LITL_ 0% emyLd 0)% messt(h aTers).
o ysieu CeuGLoMeEG), LOMW LOBST S TCVBIEHGT I L_BIF WG

o 2 LI _SBISET $SFIAUESH(5SHIFH6®TULD NGSTTEH®TU LD ©)% 168 () GTGTEST

102. Who remarked sultan Raziya as “She rode on horseback as men rode, armed with a bow and

quiver, and surrounded by courtiers. She did not veil her face.”

(a) Al-Beruni

(b) Ibn Battuta

(c) Ziauddin Barani
(d) Amir Khusrau

“@BDeny 5% yeuser Faurf OFuiauamsl Cure , aEuiled alled IYLOLJL 6T, IITF
ufleungriger @G @)ad Faumfl OFUISTH. 518 (LPIS5S51%GE aui Hengullallvenev’’
eTavTml @) medlwiT HevFmewest GOILILIL L 6uP

(a) 260-6)Lipesl)
(b) @)Liar Lignsm
(c) &BwimeysFeer Limget)
(d) <O Gaev b

Answer: (b) Ibn Battuta

Explanation :

o Sultan Razia ruled wisely for four years (1236-1240). According to Ibn Battuta: “She rode on
horseback as men rode, armed with a bow and quiver, and surrounded with courtiers. She did not

veil her face.”



o She also shrugged off her feminine clothes and donned the robes, tunic, and turban of a man.

o  GFdT LBF Y erser Foumd O FuicuensgLi GLme , emauiled ailed LOLIL 6T, yTF
ufleungmiser @ Qeud Feumf CFuigmg . BTG (PFSH  HS UT
Fenguil_aileenev sTainl @) Tedlwum &edgrenet @)LIeST LSGTST GO L 1d

103. When was the Carnatic Treaty signed through which the British assumed direct control over

Tamilagam and the Palayakarar system came to an end?

(a) June 1800
(b) July 1800
(c) June 1801
(d) July 1801

AL 19 aumg Croy wns SLOlLpsSFer LOg SEIsaT L HLILITL L
TPpLBSHWUCSTH LITEHGTWESTIT (LpeD UL (LpLY6yEE C\FTT(H aubF SFBTL S

2 L &L S TLIGLING ensOw(pSSTeSP
(@) 1800 839 air

(b) 1800 839 emav

(c) 1801 839 Gir

(d) 1801 899 emev

Answer: (d) July 1801

Explanation :

o The suppression of the Palayakkarars rebellions of 1799 and 1800-1801 resulted in the
liquidation of all the local chieftains of Tamil Nadu.



o Under the terms of the Carnatic Treaty of 31 July 1801, the British assumed direct control over
Tamilagam and the Palayakarar system came to an end with the demolition of all forts and
disbandment of their army.

1799 opmiLd 1800-1801 LD 24,e8T(H) LITGH GTWISHETITFHGNGT FVFHLD L _BHLILIL L F6ST
aflenarey HL0p55 %0 (BBS WSS 2 6Tealh T (& L9536 6ven Lo Ul et il e
GTGRTGRI IS AT LD BISGILICLITSS ClFuisg)

1801 gg9awew 31 Q& eI’ L FFBHTL S 2 L 6L S ulleT ail%%amesTLILg
A g eumd Crrgwns & LOLpFS BT LG EIST S (HLILITL el

apL®SHWCHTH) LITDOTUSHTIT (LD ULD (LPLY6YS S U bDHHIL_GIT 06T HSI%

CarenL_s@pd @)LyaHLILIL (H HUTHETSH LIGHL_F@HLD FeDHGVSHHLILIL L GYT.

104. Which of the following measures the average kinetic energy of molecules?

(a) Heat

(b) Temperature

(c) Heat Capacity

(d) Specific Heat Capacity

epeVST MIFaN&T FITFH @QWaEE YPpewevs GOILILIGLD earafl_neag eraleumy)
&AL LL®SDnS?

(@) QeuLiLid

(b) GlauLiLiFlenev

(c) GauLiu PSS e

(d) SICQILILI GTDLSF DT

Answer :(b) Temperature



Explanation :

o Temperature measures the average kinetic energy of molecules. Heat measures the total Kinetic

Energy of the molecules in the substance.

o Oouliunengy ClLmmened &L BIG U eTaT eLpeVSInmiHaflesr CIDTES @) WSS
ADDVS GOILILIRLW @i yeraf® . OeuliLFlewnets opevsdnmnseaier Fymsf
Quas Yyppenewsd GOILLIERLW @F 9eral(h L.

105. Who among the following discovered the electroencephalogram (EEG)?
(a) Hans Berger
(b) John Dalton

(c) Neils Bohr
(d) Ernest Rutherford

LesreupauaTaipmled epenariblererene aiengallenw(EEG) &eut(h)L919-55 a1 5?
(a) apread GlLIjs]

(b) SQMGST L_MeVL_GoT

(c) bevev Guimg

(d) eTgesTavL” e Fo’s GLImi(h

Answer: (a) Hans Berger

Explanation:

o The year 2024 marks the centennial of the discovery of the electroencephalogram (EEG) by

German psychiatrist Hans Berger. The EEG, a medical test that measures the electrical activity of



the brain, has become a crucial tool for understanding the brain and diagnosing neurological
disorders.

History and discovery

o In 1924, working in near-isolation and with painstaking tediousness, Hans Berger observed
rhythmic electrical activity from the scalp of human subjects in Jena, Germany. Convinced that the
activity arose from within the brain, he coined the term “electroencephalogram.” It took another
decade for the scientific community to accept Berger’s work, marking the birth of the field of

electroencephalography.

106. Which part of the Indian Constitution deals with the Election Commission of India?

(a) Part XII
(b) Part XI
(c) Part XV
(d) Part XVIII

@BESw yrRwevenoLileT TBbFL LGS @QBFW CHIF6 9,60 eRTWSS L GOT
OSTL_jLjeoL_wF?

(a) LGS XII

(b) LGP XI

(c) UGH XV

(d) LGS XVII
Answer:(c) Part XV

Explanation:

Part XV (Article 324-329): It deals with elections and establishes a commission for these matters.



o Article 324: Superintendence, direction and control of elections to be vested in an Election
Commission.

e Article 325: No person to be ineligible for inclusion in, or to claim to be included in a special,
electoral roll-on grounds of religion, race, caste or sex.

e Article 326: Elections to the House of the People and to the Legislative Assemblies of States to
be based on adult suffrage.

o Article 327: Power of Parliament to make provision with respect to elections to Legislatures.

o Article 328: Power of Legislature of a State to make provision with respect to elections to such
Legislature.

e Article 329: Bar to interference by courts in electoral matters.

@ BFw yrFenoLiesT LGS XV, augsgiser 324-329 CaiseevLt LIHBIWSTE LD

o wwus%  324: Caiza0%em a1 &6vrs messiiLiLigb O)BmLILIBS S oIS
sLL_meatensLfleugid CHI560 ewenTuSFL_LD 2 DDe» LB P (H%E LD

o I5g 325 LD, Q)&TLD, FTF) eV LITeOIeSTSHSH T 919 LILIGH LU TS T AT
L g wedled CFIESLILIBUSDH & 2 Vevdl Bled CFIEHLILIB S G
SGHBWDHDOQUTSET WAIHLD () (5DHHSInL_TS).

o WIS 326: LDSFHATENUSGLD, LOTHleV FL L LIGLITe®6Us@hd@&HLd awg oubGs i
G flenouilet gy Litien_wiled CHigevEar BLgsLiLIL Ceouest(h L

o WIBSFI 327: L 11Cupemey  $@58516 CHIS0E6T OB ML [FLITGT
BTL_T@BLOGTDS BT B H TILD.

o MISSH 328: @ LOTBVSP T FL L LDIDSHDHTeT CHige0Har OlgmL_FiLimest
FL L _LOGTIDS BT 2 5 & TILD.

o Wizl 329: Cxi%560 aflapwinigele S o6TDBIST Femevulll SeoL



107. When the President declares an emergency, the rights conferred under which of the following

articles are automatically suspended?

(a) Article 14
(b) Article 19
(c) Article 20
(d) Article 21

G WUTSHS Fmwall auFT Blewewew L LIgsL_aTLiL®SgLCUTgl, L96TaI@BLd 6ThS
Lfleller 81p eupmisLiiL L 2 fleniser snernsGeal @)ewL_BInESLILIGLL?

(@) epI55 14
(b) epI55 19
(©) epI55 20
(d) ap155 21

Answer:(b)Article 19

Explanation:

o When the President declares emergency under Article 352, the rights conferred under Article 19
are automatically suspended.

o The President can suspend other fundamental rights by specific orders.

e Parliament has to approve these orders. But the President cannot suspend the rights conferred

under Articles 20 and 21 under any circumstances.

o MNISHI 352@657 @59 G WTHS SV Y UFTSHTV LNTHL_GiTSHeF
OFuiybCung, auIs5S5I19Q)ewT BLp QenEasLiLL’ L o fleoioser E G A0y
PDISSULGILD.



o GOUNL L 2 55760 Fel6T eLpevLD LY WTHS ST L9 9y e
2 flenLoEear Q)enL_BlnISd (LpLy LD,

e (QBF 2 F5FTFH®GT FTLTE@HLOGIDLD Y BEIGHHHE CouenT(hLD . Y GTTD G LYULTHD
ST 6T5S06uTH GLhBlevevuilad aprsg20 wpnih 21 & TS L
2 Jlen DS aT Qe L_BlMISS (LpLY- U TS

108. Which one of the following organizations/ministries launched the 'Vocal for Local' initiative?

(a) Ministry of Micro, Small & Medium Enterprises

(b) Ministry of Rural Development

(¢c) NITI Aayog

(d) Tribal Cooperative Marketing Development Federation of India Ltd. (TRIFED)
L9eSTeU(HLD GTBS Y GHLOLIL| /o FFELD 2 aircahd QILITBLE@5SSG GIev '
puUPpFeowg OSmL_mFueTers?

(@) Gm1 Fmy wpnid EHSST CGTLH6 e LDFFHLD

(b) 26175 MGTIFS) 69 LDFFSHLD

(©) BB 5 Guns

(d) @BFw L GLuleTs ol Hney Fhensg LRSS0 Codum’ (B s L el
BmI6uesTLd (19697050 L1L")

Answer: (c) NITI Aayog

Explanation:

o NITI Aayog launched the 'Vocal for Local' initiative under its Aspirational Blocks Programme in
2024. This initiative aims to encourage a spirit of self-reliance among the populace of Aspirational

Blocks, propelling them towards sustainable growth and prosperity.



o The logo for ‘Aakanksha’ was also unveiled under the ‘Vocal for Local’ initiative. As a part of
this initiative, indigenous local products from 500 Aspirational Blocks have been mapped and

consolidated under Aakanksha.

109. Consider the following statements :

1. The river Tapti divides the plateau region of India broadly into two parts.
2. Narmada is the only river in India which flows through the rift valley

3. Narmada is the longest west flowing river in India

How many of the above statement(s) is/are incorrect?

(a) Only one
(b) Only two
(c) All three
(d) None

LIGSTUHLD FoHDIFHEH TS F6r 6w}

1. su% B @QBFw LT_Lo) LGBeow @Qoest(h) LGS sernsL L9755 D)
2. piwens P QEPwraied ere) LeTerss155 60 LT LD @GT BS) 2,GLD
3. powes pP QBHwraler Cop@ Crres) LmyLd L% BeTLoresT BSWTELD

CLop et s pnIFalled 6TESe ST Jn D% DmIS6T SalnTesTeeu?

(@) @&l LOL-(HILD
(b) @uoesst(h oL (HLD
(c) eperpyLh

(d) e1gILD @)eenev



Answer :(b) Only two

Explanation :

o The river Narmada divides the plateau region of India broadly into two parts. The region lying
to the north of the Narmada is called the Central Highlands and the region lying to the south of
Narmada is called the Deccan Plateau. Hence statement (1) is incorrect

o All the major rivers (Mahanadi, Godavari, Krishna, Kaveri etc.) lying to the south of the
Vindhyas flow eastwards and fall into the Bay of Bengal.

e Narmada and Tapti are the two rivers situated to the south of the Vindhyas flow westward. Their
movement towards the west is due to the presence of rift valleys in the region. Hence statement (2) is
incorrect

e Narmada is the longest west flowing river in India. Hence statement (3) is correct

110. Who launched the Satyashodak Samaj (Truth-Seekers Society) in 1873?

(a) Ayyankali

(b) Jyotiba Govindrao Phule
(¢c) Narayana Guru

(d) Annie Besant

1873 @& FSHwWBFTEE FLomengg(Truth-Seekers Society) GG TL_BIH W aiF?
(a) DJuIwIcTsmen

(b) Gor@umr Gxsraipsimal LG

(c) BITTUIGST &(h

(d) oevrest) OLiFeTL

Answer : (b) Jyotiba Govindrao Phule



Explanation :

e Jyotiba Govindrao Phule was born in 1827 in Maharashtra. He opened the first school for “
untouchables” in 1852 in Poona. He launched the Satyashodak Samaj (Truth-Seekers Society) in
1870 to stir the non-Brahman masses to self-respect. Phule opposed child marriage and supported
widow remarriage.

e Jyotiba and his wife Savitriba Phule devoted their lives for the uplift of the depressed classes and
women. Jotiba opened orphanages and homes for widows. His work, Gulamgiri (Slavery) is an

important text that summarized many of his radical ideas.

o Cor@ur GCsrallpsomal Gev 1827 b 9,e01(B) Lo&HTITaNLY TTI6 LIDBSTT .
Qe 1852 @b Lerrailed "SeTL_SFHMSH60UTH@hSHHTS5" (LS LIGTalew WS SmbSTH .
LITTLOGRTI® TS LDSHFHE AT FWLDFII TN DS HTTHUFSDHEHTE 187060 55BwCFI5S
FLomgd (Truth Seekers Society) GlgmL_mi@ermy. LG GBS F(HLOHF®S 6TH IS M
DI AfISEaI LoD S S HISS T

o  Gar@umead yaugg wenerad srailsflumr LGawayd sTLHSSLILIL L au@Lillerd
wpnith GlLessigefer (LpeTCaTDDIEFDFTH FBIS6T QUTLHEMHE W 9 FL1LIGwHSS e d
Ceor@Lm 9 eTmens @)eV6VBISEATILILD Q% 6M 6L @1hDHSE TG ()6)G6V 515 6H 6T uyLb
PDESTI. YU TIPS W BIVTST , GHTLLFT (LY DLDSSHRTLD) U HeD LWL
Qb LITeVTEST §I TS (58515 %6 NTF F(5%H S FnmI B DS

111. Consider the following statements:

1. He promoted the use of pure Tamil words and removal of the Sanskrit influence from the Tamil

language.
1I. His institution, ‘Samarasa Sanmarga Sangam’, was rechristened as ‘Pothu Nilai Kalakam’.

III. His journal ‘Jnanasagaram’ was renamed ‘Arivukkadal’.

Who is the person referred to in the above statements?



(a) Parithimar Kalaignar
(b) P. Sundaranar

(¢) Maraimalai Adigal
(d) U.V. Swaminathar

LISTUIHLD FonDDIFHEHETE F6uawT) :

L grw sLOL) QUTISSEH®ETL] LIWGTL (RS SIS U LD FLoaOF) (BSSB e 0)FedalnsE
S0 O omPluleS) B Bs HSDOLILIRMmSU LD 2015 aNSS T

II. 9JeU(hew LW FLOJF FGILOTTHS FBIGLD 6Teq(LD BMIeuaTLd ‘OLITg Blewevd SLpHLD
ererm Olwf i1 g
III. e W  ‘GHITFISIL  — 6TeyLD LGP HoHend ‘BYSFL_ GV GTGITLI

Quuwgwmopid CFwiwii L g

Gupaser smppiFefied GO L ®erer BLiP

(@) URPLOTY FeOev6hi
(b) LI.FBSIGTTI
(c) LDEODLOGHGV 9L FGIT

(d) 2. Geu Feurflprsi

Answer :(c) Maraimalai Adigal

Explanation :

e Maraimalai Adigal promoted the use of pure Tamil words and removal of the Sanskrit influence
from the Tamil language. The movement made a great impact on Tamil culture especially in
language and literature.

e His daughter Neelambikai, played an important role in its foundation. He changed his own name

Vedachalam and took on the pure Tamil name of Maraimalai Adigal.



e His journal Jnanasagaram was renamed Arivukkadal and his institution, Samarasa Sanmarga
Sangam,was re-christened as
Pothu Nilai Kalakam. Neelambikai compiled a dictionary that provided pure Tamil equivalents to

Sanskrit words that had crept into Tamil vocabulary.

o GIw SLOLH UTTSMSHGTLI LIWLIGTL(HS SIS ULD FLOaDF) (BBSB 68T 0)Fedans @
S0 O omPlufeS) B BSI HSDDLILIR S ULD LDGHDLOGHE I LJH6T 2605 F eSS M
Q@alalwssd SLOLH Li LesTmL 1963 L8G GWILILING SLolLp Glomif) . @ewEFuwiLh
Y G wenal LB ClLIBLD M5BS50S 6ID LI(BS D W)

o LOGEDLOGNGEV YLYFHATTHGT LoF6T HeuTLdLIens Q)eIaNESLD 2 (FeunsHLILIL L F6d
WESRWLT LEIEG uESHTT . CaugndgFevld e1aTp Fesig O\Liwen Seud Frw &L)Led
LDGODLDEH GV L9 F T TGS LD MM MI&0) % MeusTL_ Tl

o IYUHL W GHTGTFTEILD T LISHFS»E YMasEL_ eV eT1arLl GlLwFLompmLd
QFuwiul’ L g SYUheOL W FLDJF FGRILDTISS FRIGLD 6TILD Blpieuetd O)Limg)
Bleovewd spad  erasin Quwfle Liul L g . S OFTHS @S G 6T L& Baai L
FLOGVE) (555 CIFTHS @55 G @)ew e TeT O\LIT(heTSISIm g W SLOLH ClFTHEeTL_BIGHIW
SITH) @estenm bowrdLlens ClgsT&HSs T

112. The author of "An Uncertain Glory: India and Its Contradictions" was?

(a) Amartya Sen
(b) Abhijit Banerjee
(c) Vivekananda
(d) Edward Jenner

"Hevowlledrll sy - @BSurajw JS@IeL W pIaTLTHSEHL " D Hied e
<, D Puwig?

(a) LiFBwim O)Fer
(b) 99288 Limesigd)



(c) aNCeusTestbs

(d) er_cugL’ Oleoesresr
Answer - (a) Amartya Sen
Explanation :
o An Uncertain Glory : India and its Contradictions, by Jean Dréze and Amartya Sen.
e In An Uncertain Glory, two of India’s leading economists argue that the country’s main
problems lie in the lack of attention paid to the essential needs of the people, especially of the poor,
and often of women.
113. Consider the following statements
L The Gaj Ustav - 2023 festival was celebrated in Assam.
1l.  Karnataka has the highest number of elephants as per the 2017 Elephant Census.

III.  The Asian Elephant is categorized as Endangered in the IUCN Red List.
How many of the above statement(s) is/are correct?
(a) Only one
(b) Only two
(c) All three
(d) None

LIGSTeUHLD FoDMIBENTS F6rGHH):

L yamldled $g 2 abvgal- 2023 aflpm Qsmesr_m_ i’ g

IL. 2017 wirenesrsar $6w51d 0% B LILIGTLILG STBTL_STale) 9B WTeHTSHaT 2 GTCT6H.



1. IUCN @euLiy u'1guwedled Fuw wnenestisar 9P bsl el Blenevuiled

UMSLILIHSSHLILIL (B GITGTGHT.

CLpsesTL FpnISaled 6TSS56 68 JobMI/FnDMIS6T FiflTeTen e’

(@) e@aiml L GILb
(b) @uoesst(h) oL (HLD
(c) eLp@ImILD

(d) 615a/LD @)eVenev

Answer: (c) All three

Explanation:

30 YEARS OF PROJECT ELEPHANT:

o The President of India inaugurated Gaj Utsav at Kaziranga National Park in Assam to celebrate
the 30th anniversary of Project Elephant (PE).

e Gaj Utsav, which translates to "Elephant Festival," is a significant event in India that celebrates

elephants and raises awareness about their conservation.

Status of Elephants in India:

o India harbors the largest and most stable population of Asian elephants, accounting for over
60% of all wild Asian elephants.

o Karnataka leads with 6,049 elephants, followed by Assam (5,719) and Kerala (3,054) based on
the 2017 Elephant Census.

o The Asian Elephant is categorized as Endangered in the [IUCN Red List and under Schedule I of
the Wildlife (Protection) Act, 1972.



114. What is the 4 digit greatest number which is exactly divisible by 15,18,20?

(@) 9000
(b) 9500
(c) 9900
(d) 9990

15,1820 @& L8Fuieiip) au@GL@®Ld LOSLIGLAwS @Q)evEs eTesT wig?

(@) 9000
() 9500
(©) 9900
d) 9990

Answer:(c) 9900

Solution:

Largest 4 digit number=9999
Lem of 15,18,20

Step 1= find lcm of 15,18,24
Step 2 = 9999 ~Lcem of 15,18,20
Step 3=9999 - remainder

Lem (15,18,24)=180

9999180 = remainder = 99
9999-99= 9900



115. Find the greatest number that will divide 43, 91 and 183 so as to leave the same remainder in

each case.

(a) 4
() 7
@ 9
@) 13

43, 91 wPpid 183 @ wGEGLD Glug @G LiFeww FLd A& ClLflw eTevren cwr

FGHTL_D) 5.

(a) 4
(b) 7
(c) 9
d 13

Answer:(a) 4

Solution:

Our numbers here are 91—43=48,183—91=92,183—43=140

So we have the set of numbers {48,92,140} and we want to know the biggest number that divides all
these numbers. So,

48=2%x2x2x%3

92=2x2x23

140=2%x2x5%x7

The greatest common divisor of {48,92,140} is 4



116. Which of the following has the most number of divisors?

(@) 99
(b) 101
() 176
(d) 182

LaraupeuaTaipPled 6185 HE eTasrenflGamsuilcvneaT ai&SFEmars )% Tess(herarg]

(@) 99
(b) 101
() 176
(d) 182

Answer:(c) 176

solution:

99=1x3x3x1l

101 =1x101

176 =1x2x2x2x2x11

182=1x2x7x13

So, divisors of 99 are 1, 3, 9, 11, 33, .99

Divisors of 101 are 1 and 101

Divisors of 176 are 1, 2, 4, 8, 11, 16, 22, 44, 88 and 176
Divisors of 182 are 1, 2, 7, 13, 14, 26, 91 and 182.

Hence, 176 has the most number of divisors.



117. The average height of 12 students in a class was calculated as 152 cm. On verification it was
found that one reading was wrongly recorded as 148 cm instead of 172cm. Find the correct mean

height?

(a) 150 cm
(b) 156 cm
(c) 158 cm
(d) 154 cm

R UGLILI® 12  oresreugsefier sgnsFfl o wigLb 152 Q& LS eTewrd
SETEE LI L g FAunigs@Ld Cung 172 60& L araiLieng 148 0& L5 e1ew8 Faumns

T(HB&S CsmarerLiLIL L Fns QAW aupsGl eTesled FRwimes Fyefl o wLh wng?

(@) 150 Q& 18
(b) 156 Q.18
() 158 Q& 18
(d) 154 Q& 18

Answer:(d).154 cm

Solution:

Average height of 12 students= sum /number of value
A,=S,,/12=152

S, =152x12=1824

After verification

(S,,-148+172) /12 = (1824+172-148) /12

1848/12 =154



118. Which gupta ruler is also known as Vikramaditya ?

(a) Chandragupta I
(b) Chandragupta Il
(c) Samudragupta
(d) Vishnu Gupta

AfSrTFSWET eTRin e PsSLILIBGLD GLS IFy wrh

(a) (LPSGVTLD FHSHTGLIST
(b) @uoewTL_Md FHFISGLIST
(©) FWEPIGLST

d) ey GLIST

Answer :(b) Chandragupta IT

Explanation :

o Named after his grandfather, Chandragupta Il was a capable ruler, who ruled for 40 years. He
came to power after a succession struggle with his brother Rama Gupta. He is also known as

Vikramaditya.

o gy $M155T OLWeIGW Giyw @)  WIL 1D FEHTGLIST LOFS FD6w LOW 65T
IFH. ug 40 YIRS eT L F LABSTT . Fevig) FOHTSTITET TTLD G LIS (5L 65T
aumflafenios L Cumgmy 9L Fa @ aupsT . NSILOTS S UGS TG MILD

QOLPSHHLIL LT,



119. Whose ability and loyalty was impressed by Sultan Muhammad Ghori that made him elevate

Jfrom being a slave to the rank of viceroy ?

(a) Muhammad Bin Bhakthiyar Khilji
(b) Shams-ud-din lltutmish

(c) Aram Shah

(d) Qutb-ud-din Aibak

Wrhe LW FnenLoujld fFQUTF(LPL) HOSTSRT (LpFHLogGl CHTlwmed FisELILIL B
QI AUHT L9 GOLOWTE @)(HBSI LDTETRTS S D& OunpiLiL) oy @55l LUFalsE
o WigFPwg?

(@) (Lp&HLoGI-LI68T- LSS WTT Gevgs)
(b) FLOFGT Q) 0% LO o

(c) ATLD ot

(d) GBS eT g@us

Answer :(d) Qutb-ud-din Aibak

Explanation :

o Sultan Muhammad Ghori was impressed with Qutb-ud-din Aibak ability and loyalty so he
elevated him to the rank of viceroy of the conquered provinces in India.
e Qutb-ud-din Aibak reigned for four years (1206 to 1210 CE) and died in 1210 in Lahore in an

accident while playing chaugan (Horse polo).

o HVSTRT (LpaLOLG CHTl $HF LSS 6T @115 FDEHLD LOD mILd NFITFSS TG0
FissLIUL L Td, eTarGou Syeud eueng @QrHwmalled gmer OeupplolLPm 65

LOTHAGTSFD G ClLmmLiL] QL @BBITS Lg% @ 2 wisS e



o UG BTG YeT(hsaT (1206-1210) " & Lfpsmi. 1210@)6d condafled GlFers e
(@Pewr CunGevn) eTenitd allewarwmi 1y ar CLng BlsLpBS e ilLIFF O @) bS T

120. The proclamation issued by Queen Victoria was read by whom at Allahabad Durbar on
November 1, 1858?

(a) Lord Mountbatten
(b) Lord Curzon

(c) Lord Canning

(d) Lord Cornwallis

BeubLig 1, 1858 iml HwSTUNSH e Oupm grwe Siumfled aflsGLmiwmr
wamgrewni Oeualui L Cuupldemasamw aurfgseaud wmf

(@) weyesst G’ &1 L971Ly
(b) spgFeT 1971

(c) smestimi 1971y

(d) smieTeuredenv 9Ly

Answer :(C) Lord Canning

Explanation :

e A Royal Durbar was held at Allahabad on November 1, 1858. The proclamation issued by Queen
Victoria was read at the Durbar by Lord Canning, who was the last Governor General and the first
Viceroy of India.

o Proclamation endorsed the treaties made by the Company with Indian princes, promised to
respect their rights, dignity and honor, and disavowed any ambition to extend the existing British

possessions in India.



o paubLg 1, 1858 QSTMI VSTLINSSHG MW SHLITT BewL_ O LD

NG milwm wargrest! Gleuaflui L Cughlges , @QBHwTaNGET HeoL_ & FHeugeti
QlGTIGILD (LpF GO 6B 6U GV TTWLD TGS HTesiBI LITL6UTed STLIMHGD UTFSHLILIL L ).

o m&HCoows Hs&HpPws 1566 @QBHw 9 rFisGart® Copn6lsm GOOTL_
2 I @i Eemsseer QLICLIPIS®S aTpnis OlsTewnTL G : <9/ 6L [J % GVf GBT
2 flewLo&emaTu|Ld HessTessiiGenSuLd OSTIaUSenSULD LDBLILIS TS LD

2 pSwelsss. Cueyd @QrFHwralled o erar 9,m%H Cevw (hs@GF CFTHSLO TesT
uGssanaer Gogd ailfleu®ssiIw Crrssd @aeane eTasteyLd Blallsss

121. Sucralose, Aspartame, Acesulfame Potassium and Neotame are related to which of the

Sfollowing?

(a) Antibiotics
(b) Artificial Sweeteners
(c) Antioxidants

(d) Food Preservatives

&&Sg8wmad, YedTiGL L), YRFWLCLLd Qum’ L r@wid wpmyd HCwrGLLd

I Fwenau LiaTaspaiaTaupPled TeIL &1 C\F ML FLjen L 1eneu?
(@) micsgIuil eTELiL)

(b) QFwpens @)esflLiLyL’1gsHer

(c) 2evTLy. 9SOl _cvTL”

(d) 2 etayLl LGLILI(HSFIS 60

Answer: (b) Artificial Sweeteners

Explanation:

o Artificial sweeteners are sugar substitutes that are used as alternatives to natural sugars.



o These sweeteners are chemically synthesized and provide a sweet taste without the high-calorie
content of regular sugar.

o They are commonly used in various food and beverage products, including diet sodas, sugar-free
desserts, and low-calorie snacks.

e Guidelines for Usage of Artificial Sweeteners in India

e Food Safety and Standards (Food Products Standards and Food Additives) Regulation, 201 1.

o FSSAI has approved several artificial sweeteners such as saccharin sodium, aspartame,
acesulfame potassium, sucralose and neotame.

https://'www.hindutamil.in/news/opinion/columns/995302-artificial-sweeteners-2.html

122. Select the correct answer

Assertion (A): Pascal’s law is the working principle of a hydraulic lif.

Reason (R): Pressure is thrust per unit area.

(a) Assertion and Reason both are correct. But Reason does not explain Assertion.
(b) Assertion and Reason both are correct. Reason explaining Assertion.
(c) Assertion is correct. But Reason is incorrect

(d) Reason is correct. But Assertion is incorrect

FRlwner aflenL_eowg Csin0)5®

FDWI(A): BAWGD G155 LITevHed B uiler o1 LitienL_uled OFwaedLIBHF DS
STgenTLd(R): @rev@ LTLiLled ClFwed LB ClFmI$HSH alensF Iy (LPSHLD 4G LD

(@) Fpmi (A) wHnId SrgewTd (R) @oewthd FHWTKTEDEL. YETT, FoDHD TS
FMIeT%eS FHwTs aflers%a 606 6v.

(b) Fmpmi (4) PYILD STgesTid (R) @)Iest(H)d FAWATEG. FopD TS HTTCHISHDH
FHlwng aflers & F ).

(c) Il (A) FRWTCSIS]. HYGTT FHTIGRTLD (R) F6UDTGTZ).


https://www.hindutamil.in/news/opinion/columns/995302-artificial-sweeteners-2.html

(d) Smgessiid (R) FHWAGSS). pTT6O Fnpm] (A) SUDTESTZ).

Answer:(a) gpmi (4) LOHDILD STgesid (R) @) oestBILd FAWNGT6L. ),GTT6V, Fo DD TGOS

SMgeTgensg FHwns aflerssaileemeu

Explanation:

e Pascal’s law is the working principle of Hydraulic lift. In Hydraulic lift, applied pressure is
transmitted uniformly and multiplied throughout the system.

o YYUPSHLD GTTLIGNS L|FIBGIO\FTaTeUS G3(h S LILIGDHL & H(BSS| TG MY/ LD
LTev&e0l&T aI%) BRlwed o wig® eraieunn Gouemev ClFuiRmg) e1erLicns CrBuLg wins
Q9155 9606w Gv.

o uTavseT NG W TESISH 2 (PSSP P T FLOLDTEST LFLOIHDSeS afloufEHmS

(D (LPSSLD GTGRIM TGV GTGTLIG| LOL (RLD < GGV).

123. Which Amendment act removed the nomination of the Anglo-Indian Community to the Lok
Sabha and State Legislative Assemblies?

(a) 100" Amendment Act
(b) 101" Amendment Act
(c) 102" Amendment Act
(d) 104" Amendment Act

LEsarenal LpmiLd omple FL L L1 CGLgeer S@ps@ 24615 Cevr-Q)BIw FepssFer
Bluergens 616% H(HSSF FL L LD BEFwGP

(@) 1006ug BBSSF FL L _LD
(b) 10]aug BBSSF FL L _LD
(¢) 102aug BBSSF FL L _LD
(d) 104aug B BSSF FL L _LD



Answer:(d)104" Amendment Act

Explanation:

o In 2019 the 104" Constitutional Amendment Act terminated the reservation for the Anglo-Indian
community nominated by the President and fixed 2030 as the deadline to end the reservation for
SCs/STs in the Lok Sabha and State Legislative Assemblies.

o 2019 9yib YewTIge0, 104 QU HTFWeEHLOLIL] B (BSSF FL L LD SGSTTSH LIFNWI T6V
Bwiblgstiul’ L. 9y m&SCr-QpFHWiseT QL RHISSL L BNISF WG LoPnLD

LD&ETen el LoPMILD LomBlev FL 1 L1 CLigeneussafed 61av§) /6TGIV L9 & @Vh B TGST
QL REHEBL WL (LpLg Y& G O)&T6HT(H 6u(HeUSDH M6 &HT6vs6)%(h 6T 2030
Blicwul3 53|,

124. Judicial review has been borrowed from which of the following country?

(a) Soviet Union
(b) South Africa
(c) United States of America

(d) Ireland

b® Ermuie) KearaumpLd 616% BT 1960 @BBE O UDLILIL L g)?
(a) CFmallwg wyevflwier

(b) QgereTnLilIfNEsm

() YO AEE @EF W HTHS6T

(d) SJwieTps)

Answer:(c) United States of America

Explanation:



o Fundamental Rights, Judicial Review, Independence of

Judiciary, Impeachment of the President, Removal of Supreme

Court Judges, High Court Judges and Vice-President have been borrowed from the US Constitution.
o Lt 2 fl eisaer, FF Fomuie) , GHLYWIFSS®VUT LBFTT Ligalbss
SELOMGTLD, 2 &F BbHIoID, 2 Wi BFOSTD BHUFEET , LY WTHS S]65 TSI GV [
CunerGpreny Lsal FFsd CFuwivd wpeow IO NES 3y gFen oL (HESI

QupLiuLl L g

125. Which of the following constitutional amendment acts transferred the subject of education

from state List to concurrent list?

(a) 24" Amendment Act
(b) 32" Amendment Act
(c) 38" Amendment Act
(d) 42" Amendment Act

LesTaupLd 6TES TR WeEHLOLILS B (55FSF FL L LD Fevailenws LomElevL
UL 19 wedleS) g O LmgLl L 19 weyiag LompPlwig)?

(@) 246ug H(HSSF FL L _LD
(b) 326Uz H(HSSF FL L _LD
(¢) 38eusl HHSSF FL L _LD
(d) 426ug| H(HSSF FL L _LD
Answer:(d) 42 Amendment Act

Explanation:

o The subject of education was originally located in List Il or State List .



e The Parliament in 1976 enacted the 42" Constitutional Amendment Act that transferred the
subject of education to the List Il or Concurrent List.

o The State Governments exclusively had authority over education when it was in State List and
the Union Government acquired education after this transfer.

e When a contradiction arises between the States and the Central Government in the Concurrent

List the authority of the Central Government or Parliament will prevail.

o YUIOLI HTVSH6V eVl @) TesTL_MTeug LI 1q WevTesT LoMBleVLT LI 19 uedled &meT
QL OuPBBESS!.

o 1976 yLd YewT(h BALT@BLOGIDLD 42 UG HTPWG FTFGST B (BSSFFL L_F B 6T
eLpevLd Sevaileni eLPGEID Teud) LIL 1g wevTeT G\LITgILl LiL”1q wiey|d @ LoD BILIg)

o ABleV YrFFafeT ULl L HPETILD  SFW LOTBIGV 9 TFTBIHEIS @SS
QungIeuTesTSTs LAPDLILIL L ).

o Qumgi ulguwelled spCLTg sevall Q) (HLILIST LFF W LOTHIeV

9 TFTBISEIF@5%GH QewL_Cw (pgestiT(hFHer CaHaarplerTed ogFw 9 T&F e

AP FTIGLD O)FeORILILG 3 &LD.

126. Which of the following is incorrectly matched?

(a) Sarkaria Commission - 1983
(b) Punchhi Commission - 2007
(c) Rajamannar Commission - 1979

(d) Venkatachaliah Commission - 2000

LaraupeuaTaipPled 618 SauprsLl QUTBLEIS DS,

(a) FESSTHWT G (Lp - 1983
(b) L@HT p - 2007
(c) TAQLOGTGSITT (& (Lp - 1979

d) QeumisL_nFedwT GLp - 2000



Answer:(c)Rajamannar Commission - 1979

Explanation:

Sarkaria Commission
o The Union Government constituted a commission under the chairmanship of Justice
R.S.Sarkaria in 1983 to review the Centre-State relations.

o Five years later, it submitted a comprehensive report containing 247 recommendations.

Punchhi Commission
o The Union Government constituted a commission in 2007, under the leadership of Justice Madan
Mohan Punchhi, the former Chief Justice of the Supreme Court in 2007.

o The commission presented its report in 2010.

Rajamannar committee
o The Tamil Nadu government established the Rajamannar committee in 1969 to analyze and
provide recommendations for restructuring the Centre-State relations in our Constitution.

o [t submitted its report to the government in 1971.

Venkatachaliah Commission

o  The National Commission to review the working of the Constitution (NCRWC) also known as
Justice Manepalli Narayana Rao Venkatachaliah Commission was set up by a resolution of the NDA
Government of India led by Atal Bihari Vajpayee on 22 February 2000 for suggesting possible

amendments to the Constitution of India.

FgSSTRWT GUP

o LDSFWI S TFMBISLD 1983  91b TR BPWTFT 0 .GTaN.  FISSHTHWIT
FeVen LoUIe) (1h & (LRI 2 (FaU TS5 W ).

s @QEGU 247 UNBSHIISEGT 2 GTATL_SFW 6 Il FeuTeT HYMWFHenHen W D BHS5/
QUIBL_BIEHT LG5I LDFBW TFD S



FLOGLILIG S G

Lei158) G

o GFW gFIsl HLD 2007 LD TR 2 FF bFLOGTDS PG (LPGTGTTE) 68 GUEH LD
B LG 1oFeT GLOTHET L6¥TEF) Feneven Loulled 6 (h LIS & (LOeD & e LDS S

o @FGUP 2010 LD TR SIS LINBFIEH TS QT LDSFHI 9 TF:5% G ULPEIF W)

@ ung&TRTTE (G(Lp
o SLOUPBHI®H TFABISLD BLOGI Y TFLOLILIGT LDSFW LOABIV 2 DEFHEDET 2, Uie)

O Fuig LI BSHIEHTHET 6 LpEIGeUSD G Q)TTRLOGIGTTH & (Lpen e 1969 - @
DL B,

o SEIGATG LITBSIHTH®ET @)% (Lp 2 TFTEISSID S 1971  91b &1 ()
QUL BISHNLIG).

OeumIsL GlFvenewT &L

o gswi o Ks1d eurdumy semeve ouflevrest CHPW LOSSHTTL F& ol L cuol]
9 uFmmISD 2000- b ewT(h) BFwrsFd pagmwest grel GleussL O)FedeneviwT
FeVen LOUI G (15 & (LPEN6 GOLDS DS,

e @Bs uFeoLiL HLiLTUIe CEFW @ Lp (NCRWC) ggemioLitied Liv
FiBmSSmiHer 0FmerHeugLiiL CouessT(BLD 61655 Fo WG]

127. Consider the following Assertion and Reason

Assertion (A): Purchasing power increases, price decreases and vice versa.

Reason (R): The production of goods declines, the price of goods increases and then the purchasing
power is affected.

Select the correct answer

(a) Assertion and Reason both are correct. But Reason does not explain Assertion.

(b) Assertion and Reason both are correct. Reason explaining Assertion.



(c) Assertion is correct. But Reason is incorrect

(d) Reason is correct. But Assertion is incorrect

L9eSTeu(hLD FnD DI LOPMILD HTTCHISSD & 6vest]

FPPI(A):  afewev GHDBS TV UTEIGLD 55 B FHHE DS LOOMILD Q)F/
GriLmmmesig).

sTgewid(R): Oumperseller o PLSD GopEs , aflewev BSHLILISTEO 6uTmIEGLD
SweT LITHESLILBF DI

FRlwner allewL_emwg Csin0s®

(@) &pmi (4) wPpibd sTgesTd (R) QuewT(hLd FRWTRTENG . ST, FoDHD TS
FMIIS DS FAUWTH @675 %6060 L.

(b) Fmpmi (4) wPmId sTgesid (R) @Q)uestBILD FAWTKTED . FnPDITH HTTCETSHS
FHlw s aiersGF ).

(c) Fmpmi(A) FAWTETS. YT HTITILD (R) S6UD TCTS.

(d) SmgewnTLd (R) FHWTGTS). 6TTe) Fmpml (A) Fevm TeTdy.

Answer:(a) Assertion and Reason both are correct. But Reason does not explain Assertion.

Explanation:

o Purchasing power is the value of a currency expressed in terms of the amount of goods or

services that one unit of money can buy. Price increases purchasing power declines and vice versa.

Demand for goods:
When demand for goods increases, the price of goods increases then the purchasing power is
affected.

Price of goods affect the value of currency:



When the price increases the purchasing power decreases and finally the value of currency
decreases.

Production and supply of goods:

The production and supply of goods decline, the price of goods increases, then the purchasing power

is affected.

128. Which one of the following is the right bank tributary of the Brahmaputra River?

(a) Diban
(b) Lohit
(c) Manas
(d) Burhi Dihang

LesTeupeuastaupiar 615 LATLOLOLISSIT SLDDIGT QUGS S0 T SI6H T 1)
(@) DL

) Gawranlg

(c) LDIGETeW

(d) Loan Saprm

Answer: (c) Manas

Explanation:

e Brahmaputra originates as Tsangpo in Kailash range near Mansarovar lake.
o [t makes a gorge near Namcha Barwa.

o It enters India with names Siang and Dihang

Left bank Tributaries of Brahmaputra
o Dibang



e Lohit
e Burhi Dihang
e  Dhansari

e Kelang

Right bank Tributaries of Brahmaputra
e Subansari
o Kameng

e Manas

e Sankosh

129. The Infant Mortality Rate is estimated in terms of

(a) Number of deaths per one lakh live births of newborns in a specific area
(b) Number of deaths per one lakh population in a given year
(c) Number of deaths per one thousand population in a given year

(d) Number of deaths per one thousand live births of newborns in a specific area

Gppang @mLiL aflSSLd e1ger i LiLienL_ufled LI _LILBS D]

(@) @@ GPIUNLL UGS LKIDSGL @@ Q)WL FLD GLpBNSHaT6) GITessTenL
6T (D eUSBD &6T QMBS GHLPHOSEHGT 6TGHT6HT%56m %

(b) @B AUBLSHD @h Qe ad CuBEG UInps GYhossaie QDEs

GLP B SE G GOT 6TewsT6s51% 6%

(©) @B UGBLSHD Yuilss CLBSS LIPES GPpossalle QDES GLpBeSselier
GTGST G801 & 6 &

d) @ GOIUNC L uGSulled LIS EGLD YuITLD GLBESHaTe) @ ITesTen L

6T (USSP &6T QMBS & LDBeOSHHGT GTCRTeE!%H e %

Answer: (d) Number of deaths per one thousand live births of newborns in a specific area.



Explanation:

e The infant mortality rate (IMR) is the number of deaths per 1,000 live births of newborns in a
specific area. It's calculated by dividing the number of newborn deaths in that area by the number of
live births for the same area during a given time period and then multiplying by 1,000.

o As per the Sample Registration System (SRS) Statistical Report 2020 released on 22nd
September 2022 by Registrar General of India (RGI), the country has been witnessing a progressive
reduction in IMR, USMR and NMR since 2014 towards achieving the Sustainable Development
Goals (SDG) targets by 2030.

o Infant Mortality Rate (IMR) has also registered a 2-point decline to 28 per 1000 live births in
2020 from 30 per 1000 live births in 2019 (Annual Decline Rate: 6.7%).

130. Under whose Chief Ministership, Periyar opposed the Modified Scheme of Elementary

Education and criticized it as Kula Kalvi Thittam?

(a) Rajaji
(b) Kamarajar
(c) Annadurai

(d) M. Bhakthavatsalam

areupLd eTeugned P(LpSLILI@SSUILL L oapHlueawssLiuL L CsTL_&%8

sallg S L gz CuAwng G sallg S L LD eraiy aoifSF 19535 TH

(@) gmggmed)

(b) STLOITY T

(C) 2| GSTCRTTSH| G T
(d) (Lp. UESUSFGLD

Answer:(a) Rajaji
Explanation :



e Rajaji, the Chief Minister of Madras State (1952-54), introduced a vocational education
programme that encouraged imparting school children with training in tune with their father’s
occupation. Periyar criticized it as Kula Kalvi Thittam (caste-based education scheme) and opposed

it tooth and nail. His campaigns against it led to the resignation of Rajaji.

o OFaTen G LOTHVSBGT (LPSVGLDEFTTS @) (BBS @)TTegmes) (1952-54) varafls
GLB®SS @55 G YD (LpSLILGSBw CgThled sevall LulPPF S L Loresigy

LD TERTaU [ 5% @5 % & 9 FHafNesT SBens W iser 0)Fuig aips 615 mLledsaf e
ullpRueliugns yeowpsdk . Qs GassOailg HLL LD (FTHemw
I LiLienLwirsd Clsmes sevall (pewp) 616 aoifss QuwTi QSHL L gens
PP LOWTS TS FSSTT. @FDH & 1@ urs Ouflwrg CopGlsrewr Cumgrl’ L miseT
@ urgngdluiest Lugall allewass@ Q)L BHF OlFaing)

131. Who launched a magazine called Dravida Pandian in 1885?

(a) Ramalinga Swamigal

(b) Ramakrishna Paramahamsa
(c) Narayana Guru

(d) Pandithar Iyothee Thassar

1885 @)ed Sumail LiTesTIgWET 616D @S O\F ML mIS wail

(a) TGS BIS &6 TLO)S%GIT

(b) IITLD) (IH Oy GEST LITLD QD LOF LT
(c) BITTWIGST &(h

d) uesstysi @Gy srFg

Answer : (d) Pandithar Iyothee Thassar

Explanation :



e Pandithar Iyothee Thassar founded the Advaidananda Sabha to raise the voice for the temple
entry of the “untouchables”. In 1882, John Rathinam and Iyothee Thassar established a movement
called, Dravida Kazhagam and launched a magazine called Dravida Pandian in 1885. He founded
the Dravida Mahajana Sabha in 1891 and organized the First Conference of the association at

Nilgiris.

e @B3sLILLGLmflewr Caralledmen pays @ FTTHE GHI 6T(LPLILIQUSDS TS
SWUSTTBST FenLiemw Blmailerty Ly ss eoCurd i g 1882e) ggmrewt
o3 Sestd PniLd @Guwrd srFr Borail Sp&Ld 1D e oLienL BlnialleTd. 18856
FnailL_ LITewTLy WeT eTaID @)FewLp Ogr_miPerng 189160 SymalflL_ L& Teges
FeoL®W BN @) FBISSH T (LpFe LOMBHTL wL_ B Hulled pL_& S et

132. "I consider that the root cause of the towering misery of poverty pressing upon the heart of

India is illiteracy."” Who stated the above lines?

(a) Rabindranath Tagore

(b) J. C. Kumarappa

(c) Prasanta Chandra Mahalanobis
(d) Ronald Fisher

"QUMIGHLD 6TaID W ISPt CHTL T @) BFHwnailer @)BSUSMS I (HSDS
Q& M6y (FLILISD @ SJLYLILIGHL & SHTTGHILD SGOMTEHLD 6T Brer &HGIHCmer "

GupsenrL auflsener gplwead

(@) 70SBEIBIS ST

(b) G20.&. G LogLiLm

(c) oFps FES T Loamev GestrLien
(d) G gmestmeOL” 'L N

Answer:(a) Rabindranath Tagore
Explanation :



o The first Nobel Laureate of the Indian Sub-continent poet Rabindranath Tagore (1861-1941) was
one of the most eminent thinkers who thought seriously about the relationship between education and
development.

o Indeed, he played a pioneering role in this respect. We become astonished thinking that almost
one hundred years ago, Rabindranath theorized education relating it to humanistic and wholesome
development.

e He did not consider education only as a means of acquiring knowledge,; rather he related
education with social and economic aspects and as a tool of poverty alleviation.

e He actively considered health, rural development, empowerment of women, environment etc to
be closely related to education.

e Hesaid, "I consider that the root cause of the towering misery of poverty pressing upon the heart

of India is illiteracy.”

133. Consider the following pairs

Famous Products Places

A. Matti Banana - Kanyakumari
B.  Odaipatti Seedless Grapes - Theni

C. Chedibutta Saree - Kanchipuram
D. Urigam Puli - Virudhunagar

How many of the above pair(s) is/are correctly matched?

(a) Only One
(b) Only Two
(c) Only Three
(d) All Four



LiesTeupLd (3)emersanans &aiauf)

LruevLomest SwmiLiLSeiT @)L_misar

A. w19 auTenLp - S&OTes W TG Lo ]
B. @& Lt g alenguievewr Hareng - Gefl

C. QL mGemev - STGHFLITLD

D. o flaid yafl - (bl BFH T

GopseTL_ c1gsen e @)anent Q) enantsar FRwrsLl CLIT®BEISDSP

(@) @einl oL BILD
(b) @oesst(h) oL (HLD
(¢) epermy oL (BHLD
(d) praiELs

Answer: (b) Only two

Explanation:

A. Matti Banana - Kanyakumari
B.  Odaipatti Seedless Grapes - Theni

C. Chedibutta Saree - Tirunelveli

D. Urigam Puli - Krishnagiri

e Matti banana is mostly grown in the Agastheeswaram, Thovalai, Thiruvattar taluks of
Kanyakumari district. It is a traditional table banana cultivar of medicinal value and the fruit is
highly fragrant, sweet with sub-acid flavour, firm texture and powdery nature.

o The Matti banana fruit's apex is 2.5 — 3 cm long and looks like the mouth of a crocodile. It is

also called ‘Crocodile Finger Banana'.



o The Chedibutta saree is a handloom saree which depicts the Chedibutta design in art silk and
cotton mix fabric. The name ‘Chedibutta’ is a combination of two Tamil words- ‘Chedi’ (plant) and
‘Butta’ (repeated motif or design). The Chedibutta saree has the iconic “plant and flower” motif
woven on the border and pallu (edge of the saree). This flower plant design or the Chedibutta design
is the intrinsic characteristic of this saree, hence the name. The saree is woven using art silk thread
while the Chedibutta designs are made using brightly coloured cotton threads. The Sourashtra
community are the primary weavers of the saree. These sarees are woven by skilled weavers of the
Veeravanallur town in Tirunelveli.

e Geographical Indication (Gl) tags would be obtained for 10 agricultural products native to
Tamil Nadu during 2024-25, the State government said in the Assembly on Tuesday. Minister for
Agriculture and Farmers Welfare M.R.K. Panneerselvam, presenting the Agriculture Budget 2024-
25, said a sum of 30 lakh would be allocated towards obtaining the GI tags.

o The GI tags would be obtained for Sathyamangalam Red Banana (Erode), Kolli Hills Pepper
(Namakkal), Meenambur Seeraga Samba (Ranipet), Ayyampalayam Nettai Thennai (Dindigul),
Urigam Puli (Krishnagiri), Bhuvanagiri Mithi Pagarkai (Cuddalore), Sencholam (Salem, Karur),
Tirunelveli Senna Leaf (Tirunelveli), Odaipatti Seedless Grapes (Theni), Gloriosa Superba and
Senganthal seed (Karur, Dindigul, Tiruppur).

134. In the first 10 overs of a cricket game, the run rate was only 3.2. What should be the run rate

in the remaining 40 overs to reach the target of 282 runs?

(@) 6.25
(b) 6.5
() 6.75
@d 7



R HH&506sL" aflenerwim g e wpFev 10 gauisailed gL L afsLd 3.2 eresfled 282 6168
Qevsans YL w LBFparar) @aiisefied @L L afsLd eTeires’

(a) 6.25
(b) 6.5
() 6.75
(d) 7

Answer:(a).6.25

Solution:

For the first 10 overs the score will be 10x3.2=32
So the remaining score is 282-32=250

Remaining overs =40

So the run rate=250/40 =6.25

135. The car that I own can go 150 km with 25 litres of petrol. How far is the number of kilometres

it can go with 30 litres of petrol?

(a) 160 km
(b) 180 km
(c) 200 km
(d) 210 km

6Te8gl LL&(LPBFB 25 I L g Q" Cured Glasress(®) 150 &).15 CLing (piguyLd eresflad 30
AL g QO Guredled LwesHIGSILIBLD FTTLDGTRIRIGTEY?

(@ 160 @..8
(b) 180 G185
(©) 200 .8



@) 210 .18

Answer:(b).180 km

Solution:

The car can go 25 litres petrol = 150 km
1 litre =150/25= 6 km

30 litres =:30 x6=180 km

136. If'the ratio of three numbers is 10:15:24 and their sum is 196 then find the smallest number?

(a) 30
(b) 40
(c) 60
(d) 96

Ty eTawrsaiar a@gd  10:15:24 PPILD ST I BHS0)STe0E 196 6T6uilev

LOSFF D W 6TCHHTen G0TE: & ITGUTS
(@ 30

b) 40

(c) 60

) 96

Answer: (b) 40

Explanation:

Three numbers are in the ratio 10:15:24

but their sum is just 10+15+24=49



So to get a sum of 196,
10x+15x+24x=196
49x=196

x=196/49

x=4

to get 40:60:96
10x=10(4) = 40

137. The ratio of the number of boys and girls in a college is 7:8. If the percentage increase in the

number of boys and girls be 20% and 10% respectively, what will be the new ratio?

(@) 22:21
(b) 21:22
(c) 42:44
(d) 44:42

R SOVTHAUIGD LoTewTeUiS6T LOPMILD LoTessTallSafier eTewnresnsiideonasuilar alGFLd 7:8
9, GLD. LoMeRTeU f&6T Lopm/Ld Lomewrallsafar elaenflaans (LpenpGuw 20% opmid 10%
o wisSLILIBGSDG eTesiiey LUBW afFFLD eTevresraunss @)(5s G LY

(@) 22:21

(b) 21:22

(c) 42:44

(d) 44:42

Answer: (b) 21:22

Explanation:

Given:



Ratio of number of boys and girls in a college = 7 : §.
Let the number of boys be 7x& the number of girls be 8x.
Also given that,

Percentage increase in boys = 20%.
= Number of boys = 7x * ((100 + 20)/100)
= Number of boys = 7x * (120/100)

= Number of boys = 42x/5
Similarly,

Percentage increase in girls = 10%
= Number of girls = 8x * ((100 + 10)/100)
= Number of girls = 8x * (110/100)

= Number of girls = 44x/5
Hence,

New ratio = (42x/5) / (44x/5)
= New ratio = 42x/5 * (5x/44)

= New ratio = 21/22 = 21:22

138. Which of the following statement(s) are incorrect about jizya tax?

I Aurangzeb imposed jizya on non-Muslims for the first time.
II. Jizya was abolished by Mughal ruler Akbar in the 16" century.
L1t was re-introduced by Qutb-ud-din Aibak in the 17" century.

(a) [andlIl
(b) Ionly
(c) Il only
(d) IandIll



Alevwr el upP LIeTaIpLd SaipTeT Fpeary Fppser Csia) Cl&Fuis

L @BpSuraled e ImIsFL (LPSTLPEDIWTH (LPeveSILD 9606V TS 6 TSHaT 5G]
Dlovwreneu aI%s% .

II. @8levwim 16 YLD BIDDTESHTLYG) (LPSHGVTI L FWTATT 9% LITTeD RLAGHLILIL L G
. @& 17 Qb BIDOATIYE  GHSILI-2 F-F6UT @LI% GTGTLIITTE LOGST(h LD
ADUPSLILINSSLILIL L ).

(@) Iopmyd Il
() 1oL Gd

(¢) I " pid
(d) Ipmid Il

Answer :(d) 1and III

Explanation :

o Jizya is a tax levied and collected per head by Islamic states on non-Muslim subjects living in
their land.

o In India, Qutb-ud-din Aibak imposed jizya on non-Muslims for the first time.

o Jizya was abolished by the Mughal ruler Akbar in the 16th century but was re-introduced by

Aurangzeb in the 17th century.

o lavwr et @)aVTLONW Y TFHEHET FBISHET Blovd Fe uILpLD (LPpeVEOLD
QOVTS LY LOSSET L5 @i BSHLILIBHILD euflw mE LD

o Q@QBFWrNe) GHGILISSHET @IS (LPSST(LPEODWITH (LPaVOILD VGV TS THET L5
Dblovwreneu ai%s% .

o edwim 16 LD BIVDIGTLY D (LPSGTW YL FWTeTs HFHLTTeD QLASHLILIL L F),
SLGTT 17 YLD BIDHDTETLY) Y6 IBISFLILITG LEGST(HLD HW(LpSLILIRSSLILIL L G



139. Choose the correct pair(s) among the ministers of:

L Amatya - minister of finance
Il. Dabir - foreign secretary
1II. Nyayadhish - home secretary

(a) I and I1
(b) I only
(c) 11l only
(d) I and 111

9oy L9ggner BB REefcoFiwTeT@)ensmrenw @)enanrsamans Gsia ClFulwayLl

I 9wswr - B@wewLodF]
I m9g - Qeuallymeyd QFwevd
I pumnwu8ey - 2 ergieond QFwevsd

(a) I opmyLd 11
®) I 11" Pib
() Il oL (b
(d) I opmyLd 11T

Answer : (a) I and I1
Explanation :
o Shivaji had an advisory council to assist him in his day-to-day administration. This council of

eight ministers was known as Ashta Pradhan.

The eight ministers were:



1. The Mukhya Pradhan or Peshwa or prime minister whose duty was to look after the general
welfare and interests of the State.

2. The Amatya or finance minister checked and countersigned all public accounts of the kingdom.

3. The Walkia-Nawis or Mantri maintained the records of the king’s activities and the proceedings
in the court.

4. Summant or Dabir or foreign secretary was to advise the king on all matters of war and peace
and to receive ambassadors and envoys from other countries.

5. Sachiv or Shuru Nawis or home secretary was to look after the correspondence of the king with
the power to revise the drafts. He also checked the accounts of the Parganas.

6. Pandit Rao or Danadhyaksha or Sadar and Muhtasib or ecclesiastical head was in charge of
religion, ceremonies and charities. He was the judge of canon law and censor of public morals.

7. Nyayadhish or chief justice was responsible for civil and military justice.

8. Sari Naubat or commander-in-chief was in charge of recruitment, organization and discipline of

the Army.

o Poungd) FevIg YRIDIL BlIeUTHSFH60 65D 2Fau (b 2 CevTFen s
GLPEeU MeUSH (BBSTH . 6TL- () LopB HFer OFTeriL Q) bs Feoors oyl LTS mesr
GTRIM| LPSHSLILIL L G|,

6TL_ () YD LOEFTSHET.
1. waw gsrear g Cuayeur oawgl LITsL WEPH , wiBlewgPer 6)Ling
[FGUGHT LOMMLD [5GVGETIH G 6V %6y 6ol LI LI .
2. LW VG B BB H 118G F 6T S eneTSe O)LIMG &e8s1d G % e LD
FALTIES TH T S wmL i’ g
3. umrdSur-prafled g EFS TFHGT FL LY FHNEHGT LODMILD
BFLOGIDSF D FL_[bF L QLY HESHET LIDOIW LIFYE® QT LITFTLOHE S| 61 eSTI
4. &FWBS g LT yewvg Oealymeyd QFwed  ererig Guimdg opmiLd
LG OVFTL_FLITGS YeoeTsd) ooy BISaleyLd & TFHS G 2 CevTaFen csr
ULpmIGeug) pmiLd LD BTHSeled) (BB HTSTHGT LPMILD HTSTH®GTLT O)LIDI6uS



5. FE8al Yoavg FHEHBTallad gl 2 aTgend O)FW T TS TS5 B (BSIHILD
D PSTISSHIL_GOT FTeTIGET H19.FL1 LIFILDTH D BI%HEaTd F6esads Geueut(B LD
LITSTGSTTSS 6 GOT %881 (3B QMU LD FIF) LIMTFTSS M

6. LIGRTIYL" JT6 VeV STSHTEFT VWG FSI VWG (LSTFL 90V
D(hFF®LF ST LOFLD , FLBIGSHGT LOPMILD OB TeST(H) )M 6L GSTEIH G5 L
Qumliuns QEsTd .  eud BwBF FL L G bF LIS W TS LD , Glumg
RUDSHFBIHENGTS F TSN H W TOTITH@ LD Q) (BB M.

7. BumuBey Ieewg e bFHLF Falled wpmid @oremial 5%
QuimmyLiy.

8. &mfl GBeTLg Idwg FeTLF)-FmewenLo Q)ITew) e Her oL CFrLiL), eoioLiLy
LPDILD QR(LpSHLD B weupplest ClLmmiLited Q)bBs i

140. Who wrote about the success of the Swadeshi Navigation Company in the papers Kesari and

Mahratta ?

(a) Lokmanya Tilak
(b) Aurobindo Ghose
(c) Subramania Bharati

(d) Bipin Chandra Pal

#0839 sLiLe ppiaarsar Caupheowsi Lpn CsFfl P mid Tl L T HYHw
ug@fenssaiied 6r(LpPwaii?

(a) CovrsLonew Hevs i
(b) 2paips Gsmew

(c) &Ligoessilw LTS
(d) 996 FHS T LITed

Answer :(a) Lokmanya Tilak



Explanation :

o Lokmanya Tilak wrote about the success of the Swadeshi Navigation Company in his papers
Kesari and Mahratta.

e In 1906, V.O.C. registered a joint stock company called The Swadeshi Steam Navigation
Company (SSNC) with a capital of Rs 10 Lakh, divided into 40,000 shares of Rs. 25 each. Shares
were open only to Indians, Ceylonese and other Asian nationals

e V.O.C. purchased two steamships, S.S. Gallia and S.S. Lawoe.

o #0398 sLiLed BlnieuesFHer Oeupn &nBlsa CevnsLone HesH FeTen el Wi
Gaafl, orL L1 Lg% feossHaied 61(LpPeTy.

o 1906Qe 6u .2 8. #GsH Hrrals sLiLed 1666t  (Swadeshi Steam Navigation
Company - SSNC) eIaqiLd gl (BLILIBIG BlpieueigesLl LB ey QFuisni . Gligs
wpsdLmest 10 el &b 40, 000 umGsertasLl AESLILL B @ uBIEG 25 af$Ld
QpFwiser, Qevmeanswsd CFipsauiser , PFw prhsamard CxipCsTHs @
L G aflpLeer OFuwiwiii’ L g

e a2 & SSsalwm S.SewrGeurt ereireyid @)aest(h) Brmails &LILIGOS 6T

G M6 %) GOTITIT.

141. Which one of the following diseases is an example of Fungal Disease?

(a) Plague

(b) Ascariasis
(c) Athlete’s foot
(d) kala-azar

Nereuapd Crmuisafied e1g) Ljehens CrmuissneaT o g mgesiLd

(a) L9CGars
(b) V&I W THev



(c) unsLILIGDL

(d) FHTeVT-FTT

Answer: (c) Athlete’s foot

Explanation:

o Fungi was recognized as a causative agent of human diseases much earlier than bacteria.
Dermatomycosis is a cutaneous infection caused by fungi belonging to the genera Trichophyton,
Microsporum and Epidermophyton.

e Ringworm is one of the most common fungal diseases in humans. The appearance of dry, scaly
lesions on the skin, nails and scalp are the main symptoms of the disease. Heat and moisture help
these fungi to grow and make them thrive in skin folds such as those in the groin or between the toes.
e Ringworms of the feet are known as Athlete’s feet caused by Tinea pedis. Ringworms are

generally acquired from soil or by using clothes, towels and comb used by infected persons.

o umsefluraing e 1D G (Lerliead)BECs LehamFasar Gprenw

2 a5 GLD CpTuiEsTyest e1er 9 mIGHHSELILIL (heTeTS).

AT, 1M T, = YT ¢E 3, Z 00 (Dermatomycosis) GTGTLIG
1y gCxneo L L_ner(Trichophyton),  eww&CgrevGumgd  (Microsporum)  LOPHMILD
e1L9G) 3 L_gGomoseniL L _meir  (Epidermophyton) @ w LyehFeng GLiflestmisanmed
apL® Csmed CFTHm M@ LL

e ULJSMoedT (Ringworm) eIGILIG LOGSSIHEE @& OB MDHDEI g W FTSTTCHT
Crmun@Ld. CHme), BHmISET LOHMILD FOLILIGHUN® STentLILIBLD aupesT G mev,
O#Fed Cunep Lessiger ()6CETuler (LpsHw P GPIsarTE LD ClgTen L Q)(Bs G 6T
opmiLd srevailgellent i LGPsallar Csmed ol Lisafled 2 arer GleuLiLiLd LopmiLd
FILILSLD Q)LILLGHEDFFAT QUATT 2% 6 %) 6oTD Gol.

o uNEmISaie gHL@LD LILJ STwegwnes CFpmiLiLjesr  (Athlete’s foot) 1gesflwm
OLi1g 6 (Tinea pedis) 6T@@ILD LYEHeOFWTE 61D LGB DS



o UL JSToemIuinestg O)LImgI6ums Loesstesshled) (b 9jevevd Gpmuis6)smmmlw
BLFSHET LIWSTL(HSH W penL_saT , HewT(HSaT opmid FLiL 24,5 w6 plet
UPWTHe LD LTS STDS.

142. Down's syndrome is a genetic disorder which is caused by the presence of an extra

chromosome number

(@) 20
(b) 21
(c) 4
(d) 23

Loyarfer_Gumid e1arLIg) 6@ LoFLIwed GenDLITEH 2 EGLd .@)5I 6165
&CurGrGanblar erassenflsens Fn(HB60 STIeRILONS eIDLI (BB DGI?

(@) 20
(b) 21
(c) 4
(d) 23

Answer: (b) 21

Explanation:

Down’s Syndrome/Trisomy — 21

o  Trisomic condition of chromosome - 21 results in Down’s syndrome. It is characterized by
severe mental retardation, defective development of the central nervous system, increased separation
between the eyes, flattened nose, ears are malformed, mouth is constantly open and the tongue

protrudes.



e 21 g &CunGrGsmblar L agGaFmiild plenev L ajarev e Gumibled
WPYEDG.  )F FHLD LOGTHEV GHeODLIT(H , LGB BILOL| LOGRTL_6VS %) GoT
GDUTHGTET euar] &7, %% @hsE LbgHuled 4P% QevL_Oleuall |, FL ewL_wimer
PG P@DPUDD F1gI56T ,  ourl CBTL_Fbg HPBEBSS60 HYIL FT5S
pesrg 53560 Gurapaipenp TP GS51F D!

143. Who enjoys the right to impose reasonable restriction on the fundamental rights?

(a) The President

(b) The Supreme Court
(c) The Parliament

(d) The Lok Sabha

Iy LivewL o fenLosefier g Blwmwiomer L GLUUTRS®6T IS&@GHLD S STILd

wrfLLD o eTeng)?

(@) GYWIHSSHE®V6UT
(b) 2 FFHFDGIDLD
(c) LIMIT@pLDOGTMDLD

(d) GevngaLm

Answer:(c)The Parliament

Explanation:

e Parliament can impose reasonable restrictions on Fundamental Rights.

o Fundamental Rights listed in Part Ill of the Constitution are not absolute and can be restricted

on reasonable grounds by legislation enacted by Parliament.



o L 2 flenLFaT L5g HWTWLT 6 SL(HLILIT(HEEDGT LITTTEHLOGTMD LD
aNP3% (LpLg uLb.

o  YrRweenoLifeT LGS I @6t guwedl Lt (ReTar 9Ly LiLienL

2 Jlen LS T LITTT@RLOGTDSS MO @QUIDDLILIL L FL 1 SFGT eLPGULD [BILITWILD TGT

g LiienL_ufled S (HLILI(BSSLILIL GUTLD.

144. The Central Vigilance Commission was established based on the recommendations of which

of the following commission / committee?

(a) S.R. Das Commission
(b) Administration Reforms Commission
(c) Santhanam Committee

(d) Sarkaria Commission

SFW  STSTeTILIL] QyenenTwiLd LI6Tal(BLD 6THS 9 e0EwTILILD /  Gupailer
ufipgienguileT g LiLienL_ullev Blpiaiioi’ L g?

(@) S.R. HTa0 Y6 eHTIILD
(b) BlIUTSHE FIF(HDHD e GRTIILD
() epsTaILd G

(d) FOSTHWT 460D

Answer:(c)Santhanam Committee

Explanation:

The Central Vigilance Commission (CVC) is an apex governmental body in India that is responsible
for promoting integrity, transparency, and accountability in the country's public administration.

o It was established in 1964 as a result of the recommendations of the Santhanam Committee on

Prevention of Corruption.



e In 2003, the Parliament enacted CVC Act conferring statutory status on the CVC.

o  WHHW FewiHTeTILIL] YenenTwid (CVC) eTaTLgy @Q)BFwnailed o arer g(h o FF
S TFTEIS YLOLILITGLD , Q)& HIL 1967 OLITg BlIeursESed 6(hewLoLiim() ,
QeuaflLiLenL_gsetenio opmid ClummiLiyessiiene G SGIaens CBIEHLOI5S
O\& 65T (B GTATS) .

o 207pe) SRLILSSTRT FbFMGTLD G (LpaileT LifpgienT saflesr aflenareuns @)a 1964
@& plpieuLisil’L g.

e 2003 @av, umgn@LoIDLD CVC -&@ FL L Liyial 9bsavens aupmi@Gd CVC
FL L Feos Quipplug).

145. Consider the following statements

1. In Progressive Tax, when income increases, the tax rate decreases.
2. In Proportional Tax, when income increases, the tax rate decreases.

3. In Regressive Tax, when income changes, the tax rate is always the same.

How many of the above statement(s) is/are correct?

(a) Only one
(b) Only two
(c) All three
(d) None

LITQUIHLD FonDDIFEHOTE 561G
1. euargads aufl G &, eu@LLARTILD HYHFHSGW Cungy , eufl aIHSLH

G®DIDS.
2. &g euf) @NFLiNe0, eupLoneTd P FHHEGHLD CLng), aud aFFLD &GDH DI



3. Gauia)ais auf @iFLiled, auwpLomestid woamid Cungl, aufl & sLd 61L1GLITGILD
@Cr 1S Rwns @) ks ELb.

CpsesiL FpnISaled 6TSSe 68T Jn DI/ DMIS6T FiflTeTen e’

(@) e@aiml L GILb
(b) @uoesst(h) oL (HLD
(c) eLp@ImILD

(d) 615a/LD @)eVenev

Answer :(b) Only two

Explanation:

Progressive Tax:

Income increase - Tax also Increase - E.g.Income Tax
Proportional Tax:

Income Increase - Tax Decrease - E.g.Corporate Tax
Regressive Tax:

Income change - Same Tax always - E.g.Sales Tax

146. Pick out the correct statement/statements

Statement 1: In Tropical deciduous Forest, the plants shed their leaves during the dry season.

Statement 2: Tropical deciduous Forests are also known as the monsoon forest.

(a) Both statements are correct
(b) Both statements are incorrect
(c) Statement 1 is correct 2 is incorrect

(d) Statement I is incorrect 2 is correct



FRlwmet auns@SwiLy o rsSwunisaears Gsin0)s Gt

urs@uwid 1: OeuliLwesi o QeewyPi STHIFaNed , UDETL HT6VBI% 66D
STUTBIFET (Q)6HeVSH e QT 25 15 F) 631D 6¥T.
UTS@WLD 2: GleuLiLnewTL_6v @emevB T FTHFHET LI(BaULOG LD FT(HHGT 6T

9| LPS S L1111 (5) ) 68T D GT.

(@) QoeT(hH) 61TSH% W EISHEHLD Fifl
(b) @)ueT(h) aTs%H W BISEHLD SN
(c) eurE@wid I Fif; 2 saum)

(d) eunrE@wid I saumi; 2 Fifl

Answer: (a) Both statements are true

Explanation:

Tropical deciduous Forest (Monsoon Forest) Biome

o Tropical deciduous forest is found in the regions experiencing monsoon climate.

o This biome is also called as the dry forest or monsoon forest biome.

e In this biome, the temperature varies from one season to another season. In summer the
maximum temperature ranges from 38°C to 48°C. Summer season is warm and humid. In the dry
winter season temperature ranges between 10°C to 27°C. The total amount of precipitation is 75 to
150 cm/year and this affects the natural vegetation of the tropical deciduous forest biome.The plants
shed their leaves during the dry season. Trees here have huge trunks with thick rough barks. The

plants grow at three different levels.



147. The place discovered by S.R. Rao during the excavation in the Ahmedabad district of Gujarat?

(a) Mohenjadaro
(b) Lothal

(c) Harappa

(d) Kalibangan

GRITSFVIGTOT YSLOSTLITSG LOTUL L FFe YYspaurgmidd) ullerGung S.R.gmel

GTGTLIGUTTE ST(HLIGSSLILIL" L @)L 1Y

(@) GlmrawehesTGm
(b) Gevrged
(c) emgLium

(d) & meifLImI% et

Answer : (b) Lothal

Explanation :

o During excavations in the Ahmedabad district of Gujarat, The place discovered by S.R. Rao is
'Lothal'. This place is a port from the Indus Valley Civilization period.
o [t is the first man-made harbor in the world. Trade was conducted with Egypt, Mesopotamia and

other countries through this channel.

o GRITSBYGTOT HFLOSTLIMS DT L SFHe0 S HelmamiFRularGLimg S.R. gral
eraTLIUITe  SewT(HLNgssLILL L @I b 'Ceongge’ yGLd. Qeialll orerg)
§pg0leual prefls ST e (BES $Ie0DLPSLOTELD

o &l 2 WH LNGETTE) 2 (heuTSSLILIL L. (LpFe CFUDPnsES SIenDLPELOTEGLD.
QssI®DLpSLD epevnns TG,  OwFuGLmAlwr o erefl’ L BHT(H)%ehL 6T
urewflLILh BewL_O\LIDmI bS5 6wt



148. Rajaji led the salt satyagraha march to Vedaranyam in Tamil Nadu in which year?

(@) 1930
(b) 1931
(c) 1932
(d) 1933

grgangl) 61 YR SLOPHTL 1960 CougmyeTwdF NG 2 L FSSUTHISLI
Gupesflenw auflpL_g 8 ermi?

(@) 1930
(b) 1931
(c) 1932
(d) 1933

Answer : (a) 1930

Explanation :

e Rajaji organised and led a salt satyagraha march to Vedaranyam. The march started from
Tiruchirappalli on 13 April 1930 and reached Vedaranyam in Thanjavur district on 28 April.Despite
a brutal crackdown by the police, the marching satyagrahis were provided a warm reception along
the route.

e On reaching Vedaranyam 12 volunteers under the leadership of Rajaji broke the salt law by
picking up salt. Rajaji was arrested. T.S.S.Rajan, Rukmani Lakshmipathi, Sardar Vedarathnam, C.
Swaminathar and K. Santhanam were among the prominent leaders who participated in the

Vedaranyam Salt Satyagraha.

o gregned) GougmuenuisHn @ 2 LiL] F6Swm@ s Cugesfleow epr® OFuig
P BLSSHesrd. 1930 b Y@ erLiged 13 b Cs% B mER prLiLIeTeluded)mb S



Osm_m&Sw Gugest erLiged 28 b C55 FehFTayd omail’ L b CGaugnyaugsamns
WDL_BSF.  FHToUSIDUNGSTHGT Cl&TEHILOTGT 9L @ (LD G LoS B UGy LD
sarjauevLd OlFID F&HWTEFT%H 5% auflOBH B eid FpLivimes eugGeupry
9eflFGELILIL L g

o Gougmresiwugensd 26l _bSSHILD TTRTS) Heneen Lol 6O 12 FGTGTTIUIH6T 2 LiL]
FL L G 5P 2 LI ei(hsserd . grggngdl ewsg GFwiwiiu L mg . Ceugmgesstuid
2 L1y FSHWTH 155 F 60 1g .GTGD. 6TeD. JTEQGET,  (h&Loewl WL &IOS ,  FISMH
Gouggs@esid, H.axaumlblpnsy, Cs.Fr AL 2 aTafll L (LpEFW F66Ve TS 6T

Fe0 5G] 0% T6uTL_GoTH.

149. The Udangudi Panangkarupatti that was conferred with Geographical Indication (GI) tag by
Intellectual Property of India (IPI) belongs to which district ?

(a) Ramanathapuram
(b) Madurai

(c) Thoothukudi

(d) Salem

@BPw yPleysFri CFng g fenLo (292 apod yaillwed gouf @ (G

QUIPEISLILIL L 2 L GGl LIGTRIGIGLILIL LY 6ThS Lomail L _Sensd CFibsa]
(@) OILDBASLTLD

®) g

() ST8SISSL

d) Gaevid

Answer : (c¢) Thoothukudi

Explanation :



o The 'Udangudi Panangkarupatti' is also referred to as palm jaggery, which is prepared using the
palm sap collected from the inflorescence of palmyra trees that grow on the red sand dunes in and
around the Tiruchendur region, such as Srivaikuntam, Thoothukudi, Eral, Sathankulam, and
Tiruchendur taluks has been conferred with Geographical Indication (GI) tag.

o The pathaneer collected from palmyra trees in Thoothukudi is more viscous than what is
collected from other areas in the state as it contains more sucrose and fructose, thanks to the Teri

sands of the red sand dunes that add the unique taste for 'Udangudi Panangkarupatti’'.

o  DBFCFBHIT STXNIEFTHEGT LODMILD 3 eOSF F:iD MW GTET LG F % TTesT
LfeneuGesTL_LD, FIFSHI%GLY, 61T, F1s5SMer%Haerhd C1FbLoest GLo(haafled euer(pLd
LIGH YT LD /5156 68T LD @hFHlFamed Q) hBal CFafasLiLi(hLd LIeHesT FTHenmL
LWSTURSP SWIRSSLILGL "2 L BI@GLy UeTsSGLUL L' Lailulwe @gplui® (GI)
UPpEISLILIL (D 2 aTarg). @)FmeT LienaT Gleueevld eresimiLd &mILILI (B F 61D et
B335 G119 Uiled 2_aTer LieneT LogmiFealied @) Brd CFsfEsLiLBL LSBT 9%
&9aL Qsesi_g. Failiy wewew P Hsaflear Csd oessiedled 9FF  %4Crmav
wppid KgsGLmad @Q@LUUSTED , '2 L BIGLY LIGIBISWRLLIL LY '$3 SafldsHanal

CaisFmal.

150. Consider the following statements regarding the XPoSatMission :

1. Itis India’s maiden mission dedicated to analyzing the polarization of X-rays.

1I. It has been built by the Raman Research Institute and UR Rao Satellite Centre.

Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both I and 2

(d) None of the above



e1&av GurFr "L 1 QGTL_fLimes L9STQUIIGLD o DDISNTE & e el

I e1E6e0 S5 TH6T SI(He(LPEOGTLIGH LI LIGLILITULIG Qeuiw oLt EsLi L
Q@ BFwrdler (6w Licwl @)FI6uT@Ld
II. @& OTLOGT YTTUIFS) BI)IeUesTLD LpmILD W .90 grer GlFwphenss G mar

®LOWHF T 2 (HUTHSLILIL L .

CupsesiL swppIsaie 1g/eTeneu FiwmesTeneu?

(@ 1 ot @b

(b) 2 i Gid

(c) Gopsent_ @) Test(hLd

(d) GLopseiTL_ 65D @)eVenev

Answer: (c) Both 1 and 2

Explanation:

o X-ray Polarimeter Satellite (XPoSat) is India’s maiden mission dedicated to analysing the
polarisation of X-rays emanating from bright celestial sources in the medium frequency band.

e XPoSat comprises two payloads, including Indian X-ray Polarimeter (POLIX) and X-ray
Spectroscopy and Timing (XSPECT). They have been built by Raman Research Institute and UR Rao
Satellite Centre, both located in Bengaluru.

o The spacecraft is designated for observation from low earth orbit (~ 650 km, low inclination of ~
6 degree).

o It has an estimated mission life of about five years during which XPoSat will observe sources
that emit polarized X-rays. The observations will be done when the magnetars or neutron stars (they
are highly magnetic and display a wide array of X-ray activity) are in transit through the Earth’s

shadow, for instance, during the eclipse period.



https://www.hindutamil.in/news/india/1 177263-xposat-advanced-satellite-deployment-pslv-¢58-

mission-successful-isro-1.html

151. The ratio of boys and girls in a class is 5:3. If 16% of boys and 8% of girls failed in an

examination, then find the percentage of passed students.

(@) 87%
(b) 79%
(© 95%
d) 98%

R UGLILIIGTAT LOTeRToI TS 6T LoPMILD LoTewTallsafier ail%sLd 5:3 9 SLD.(B
Ggialled 16% Lomesauis@pd 8% Lonewrallse@pld Csisd GClupalleeme erasfled
Czidd Quppaisaiar ¥56I55mB8 &TewTs

(@) 87%
®) 79%
(©) 95%
d) 98%

Ans:(@)87%

Solution:

Boys ratio =5/8

Girls ratio =3/8

Boys pass percentage = 100 - 16 = 84%

Girls pass percentage = 100-8 = 92%

Total pass percentage = 85/100*5/8+92/100*3/8
= 84*5+92%*3/800

=420+276/800


https://www.hindutamil.in/news/india/1177263-xposat-advanced-satellite-deployment-pslv-c58-mission-successful-isro-1.html
https://www.hindutamil.in/news/india/1177263-xposat-advanced-satellite-deployment-pslv-c58-mission-successful-isro-1.html

= 696/800*100
=87%

152. If a car is sold for Rs.200000 from its original price of Rs.300000, then find the percentage of

decrease in the value of the car.

(@ 32%
(b) 33.33%
(©) 35%

d) 42.3%

Rs.300000 o@LiLjeirar @b L& (LpBenSG Rs.200000 5@ aflpmmed, BS LO&)(LHHS T
aflew v GMDLILIF FSIFFMESE & TCoTS

(@ 32%
(b) 33.33%
© 35%

d) 42.3%

Answer:(b)33.33%

Solution:

Decreasing percentage = (300000 - 200000)100 /3000000 = (100000 x 1000)/300000

=Y5100= 100/3 = 33.33%

153. If the difference between 75% of a number and 60% of the same number is 82.5, then find
20% of that number.

(@ 90
(b) 150



() 175
@ 110

QU eTewressiienr 75% oppiLd 9B eressrenilesr 60% %@ @)ewLGuijerear aflgSwnaLd 82.5
61681160, SYBS cTevsTesstiar 20% @& % MesTs.

(@) 90
(b) 150
() 175
@ 110

Answer:(d) 110

Solution:

Let the number become x

x(75/100) - x(60/100) = 82.5

15x/100 = 82.5

15x =82.5x 100

x =550

The number is 550

Then the 20 % of 550 = 550 x 20/100 = 110

154. After spending Rupees sixty thousand for remodelling a house, Amla sold a house at a profit of
20%. If the selling price was Rupees forty two lakhs, how much did she spend to buy the house?

(a) Rs.40,00,000
(b) Rs.42,30,000
(c) Rs.34,40,000
(d) Rs.36,40,000



9L @1h @f L 19 6T UTEIE) ST SL 191 ewLoLillenast Loapp ep.60,000 ClFevay
Oewigmg. ereng yauaf en. 20% @ewrLgsPe alPpri. st aflpLemer aflenev
em.42,00,000 e16sfev, yeug yalaf e aunmis ClFuis ClFwey wrg?

(@) ¢5.40,00,000
(b) ¢15.42,30,000
() e15.34,40,000
(d) e5.36,40,000

Answer:(c) ¢5.34,40,000

Solution:

Cost price of house= x

Money spent of remodelling = Rs.60,000
Total price= Rs.60,000+ x

SP= Rs. 42,00,000, Profit%=20%

CP= 100/(100+Profit %) x SP

60,000+ x= 100 /(100+20)x42,00,000
60,000+ x=4200000 x 100/120= Rs. 3500000
x= 350000-60,000

CP= Rs. 34,40,000

155. A man sold two articles at Rs. 375 each. On the first article, he gains 25% and on the other,

he loses 25%. Find the gain or loss percent in the whole transaction.

(a) 5%
(b) 6.25%
(c) 7.25%
(d) 8%



Rl @aIGlauraipid o375 eter @) QUL smer APEITDTT . LpS®
Qunrmener 25% QTUSHDGLD, LPDPS 25% BLLSHPGLD IPSHnTy eTeufed
@l YOG BL L FSATF5IMBE HT6HTS%

(@) 5%
(b) 6.25%
() 7.25%
d) 8%

Answer:(b) 6.25%

Solution:

SP of two articles = Rs. 375,
First article

SP=Rs. 375

Gain % = 25%

CP=(100x 375)/125 = Rs.300
Second article

SP=Rs.375

Loss % = 25%

CP= (100 x 375)/ 75= Rs. 500
Total CP= 500 + 300= Rs. 800
Total SP= 375 + 375 = Rs.700
Loss= CP - SP

Loss =800 - 750 = 50

Loss %= (50 x 100)/ 800 = 6.25%



156. Arrange the following in chronological order :

L First Battle of Panipat
Il. Battle of Ghagra
1II. Battle of Chanderi
1V. Battle of Khanwa

(@) I ILIV,III
() I VLI
(¢) I OLILIV
@) LIVILIII

LiesreuhauaTaIpenm STMRNMFLILILY auflensFLiLI(DSSa LD

L wpsevmd umestli” Guimg
II. srsgm Guimg
11 .#5Cs M1 Gumg

1V. saesteur Guimg

(a) I ILIVIII
(b) I IV IIII
(c) I LLILIV
(d) LIV ILII

Answer : (b) I, IV, IILIT
Explanation :

o First Battle of Panipat - 21 April 1526
e Battle of Khanwa -1527
e Battle of Chanderi - 1528



e Battle of Ghagra - 1529

o (W) LmesiluL. Gumrg - ertiged 21, 1526

o sereur Gumg - 1527
o FpGsAL Gumg - 1528
o sasgrT Qumg - 1529

157. Who established the first modern public school for non-Christian natives as early as 1803 in

Thanjavur ?

(a) Serfojil

(b) Serfoji Il

(c) Thomas Munro
(d) Shivaji

1803  gy1b gy eviriy CovCw F@hFT@yfled FPlevgieiser JGVITS 2_GiTearH
GLBmssaiar sevalldsns psowrag pafear ClumgL Lateflenw Blpeflwarg wrf

(a) wpsevrd FgGLimgd)
(b) @uesr_md FrGLimes)
(c) smoed erGmm

(d) Foumgd)

Answer - (b) Serfoji IT

Explanation:

o Serfoji Il ,as early as 1803 in Thanjavur he had established the first modern public school for

non-Christian natives



e Thomas Munro, governor of Madras, proposed a scheme for elementary public schools in the
1820s, but the Company government did not establish a modern school for natives in Madras till
1841.

o 1803 b Y ewry CawGuw g @EhFmayfled G plab s alisar QIGVGVTS 2 GTear I
GLPB®SFHaNeT H0aNE5 TS (LpFevTald Bafet OLngLi uataflenw Blmailweud

@ oesr_mid FrGLimel)

ClFasTen & 9, @bBI STV LOGTEDT 18209415 96557196 OB TL_FL]
QungILiLeTel%EpESTeT Q@B HL L Feog CuiTFen a5 gnBleoTy. 9),6sTTed &L 6)Licw)
905 1841 91D eT(h) aUeDT FTTLI LIGTaTN%HE AT 2_aiTeors T GLPBDSH @SS THF

Oeareen astulled 61 LI(hF S Caraleenev.

158. Choose the incorrect statement(s) about Jallianwala Bagh Massacre:

I Michael O’Dwyer was the Lt. Governor of Punjab and the military commander was General
Reginald Dyer during the massacre.

II. Bhagat Singh assassinated Michael O'Dwyer in Caxton Hall of London
IIl. Rabindranath Tagore renounced his knighthood immediately after the Jallianwalla Bagh

massacre.

(a) I and Il
(b) I only
(c) Il only
(d) I and 111

rWeT aumrerLTg L®GSTeme LIBHW SaIDTeT Spenn / Fpmisener Czhay

QFuiweyLb:

L LIGHhFTLIGT 6w et Blewev @ BITH e9LodbGHe) 6@ e L W (HLD N (10 I

SLOMGRTL_[J11% Oleoestaed O)gedlestmed (B eoL_wi(hLd LSaT) B S el



11 GUGSSTL_GST & TSV L_GST Y IBIFV L15SF B 69108%CH60 6@ e L_wen T LB 6% menev
Oeuigmg
1L ggmedlwest eunevrLing LB OsTenevsGL n& QualBRIBIs $1dmi  FSeI% IFL

UL L $69& 2 L _GVLYWTSHS FIDBHSTT

(@) Iand II
() I oL Db
(c) Il oL (pLD
() I and III

Answer :(c) II only

Explanation :

o A Sikh teenager who was raised at Khalsa Orphanage named Udham Singh saw the happening
in his own eyes. To avenge the killings of Jallianwalla Bagh, on 30 March 1940, he assassinated
Michael O'Dwyer in Caxton Hall of London. Udham Singh was hanged at Pentonville jail, London.

o FTVFT YSTUDCDTT Q)VVSF 6 UGTISFHLILIL L 2 LD FIB 1T FEHGHW

LISSTLI(H6 Q)69aTGHRT @)BS BIFHLOEN6 F GSIS] HETHATTED HeSTL_TF. 9MeSLIGT6 TeV T
L @55/1@961)55@5&@1_7 ufleunsi@gd euemsuiled , 30 oajsd 1940 9eTm), evewsTL_6uflewr
FMEHVL_GOT Y TBI%H 60 9105 CH6 @ a0 L_wen T Li(h 0% menev QEFWSITH.

6V600T L_60T Q) LI 60T GL_MeaTell 6L BeuEF emm Ul 6L2_& LD GBI TS G 6Ol L LILIL LTI



159. Consider the following Assertion and Reason

Assertion (A): Salt water provides more buoyant force than fresh water.

Reason(R): Buoyant force depends as much on the density of fluids as on the volume displaced.

Select the correct answer

(a) Assertion and Reason both are correct. But Reason does not explain Assertion.
(b) Assertion and Reason both are correct. Reason explaining Assertion.
(c) Assertion is correct. But Reason is incorrect

(d) Reason is correct. But Assertion is incorrect

LeSTeu (LD FoMdmI LOPMILD FTTCHSSD & 6v 6t

&pmI (4): parastengall o iy BF (L BF ) NBSLoa6T LOSLIL aflenFen
IDLIBSSILD.
STIRTLO(R): LOSLIL] @flewFw mestgy) LIMuiLoB1%56f 6o LI(HLOGHSIF FTibS% CLITeV % 6o

YL GSB®WWLD FTTHSIOTATS].

FRlwnear aflewL_eowg C3irH0s®

(@) smpmi (4) P sTgesTd (R) QuewT(HLd FRWTRTENG . ST, FoDHD TGS
FMIeTS G FHWw s aflenssale)e 6.

(b) Fpm (A) wPDILD STgestd (R) @ISR FHWTRTEDCU. FnDDTIH HTICRTSHS
FHlwns aflersGF .

(c) Fmpmi (A) FAWTCTS. YeSTT STIGTLD (R) F 61D TGS,

(d) SmgenTLd (R) FHWTGTS). 6T Fmpml (A) Fevm Tesdy.

Answer: (b) Assertion and Reason both are correct. Reason explaining Assertion.



Explanation:

e Salt water provides more buoyant force than fresh water, because buoyant force depends as
much on the density of fluids as on the volume displaced.

o The density of freshwater is less than the density of salt water. When salt is dissolved in
freshwater, the density of the water increases due to the increase in the mass of the water, this is the
reason why the density of salt-water is more the density of freshwater.

o paraieng ol o Ly B Ps WOSLiL] allenFen i uLpmIF gl e10)eTesteD,
L1 eflewFwmesgy Hooumiseler L Gs% , UL eTaleumn aflgailyerers
GTGITLIGD S O\LITMISS S

o BETRINGT L3S 2 LiL] e L FEPenw il G®DaUTE 2 aTeTS| . [HETew o)
2 LiewLd sangs @ Cungy, bHeT pleon P ALILITD BlleT L 755 2P FH%E I,
Q@BTTOSTT 2_LiL] AT 9L (5% ety 9L [oSHeow ol SHHL0MS% 2 aTeng)

160. Consider the following statements

1. Itis a transition metal.

2. Itrarely exists as a free element in nature.

3. Itis used primarily as an alloying element in the Iron & Steel Industry.
4. It has been discovered in the Gulf of Khambhat in Gujarat.

With reference to the above statements, find out the correct one.

(a) Copper
(b) Titanium
(c) Vanadium
(d) Nickel



LGS TeU(HLD FoDDIBEONTS F 61 GHH)

1. @51 @@ QewL_planew 2 CarsLd 2,&Lb.

2. @a Qupesuiled HYNFHTE @(H S6lSH FTIOLDTE 2 aTaTS).

3. @& WSS LoWTE @)(HLOL LOPDILD 6Tos@ &m0 emm uiled
2 CurssgsewenawnsLl LIWGTLBHSSLILI(HF DS

4. Q3 SQITSDH0 2 GTeT FTLOLIG U aTE L Tale) HesT(h LI SHLILIL (B aTeTd)

Cop &L sppIFars C&meur(®) FRwTeaTensd %eTL_H%

(a) SmLILIT
(b) emi_L L_mesfluiLd
(c) GlauestiguiLd

d) Base

Answer: (c) Vanadium

Explanation:

o  Vanadium is a medium-hard, steel-blue metal.

o [t rarely exists as a free element in nature but can be found in about 65 different minerals,
including magnetite, vanadinite, carnotite and patronite.

e Brazil is the world’s largest exporter of vanadium followed by Russia and South Africa. Brazil
alone is responsible for nearly one-quarter of the metal’s global export market.

o China has the highest vanadium reserves in the world.

o Vanadium, a rare metal, has been discovered from the Gulf of Khambhat in Gujarat.
Applications of Vanadium:

o Vanadium is used primarily as an alloying element in Iron & Steel Industry as it imparts

toughness and strength to steel.



e Modern applications of vanadium include its use as vanadium secondary batteries for power

plants and rechargeable vanadium redox batteries(VRB) for commercial applications.

161. Consider the following statements

1. The Union Public Service Commission is established under Article 312 of the Constitution of

India.

2. The chairman and members of a State Public Service Commission are removed by the President.

Which of the above statements is/are incorrect about the Public Service Commission in India?

(a) 1 only

(b) 2 only

(c) Both I and?2
(d) Neither 1 nor 2

LGS TeUHLD FoDDIBEHNTS & 66T

1. @atdw 9 g&L uenilwreri Ggieumenenrid QB HTFWLOLIL| OpTSHS5] 312
Q@)&TLIg 2 (FUASHLILIL L 9 JFEOLDLILBIMICUGTLD )& LD.
2. wrBlev &L uesilwmeri G e TenenTisF 6T $emeVeld LoPMILD 2 mILILIesTISaT

G WIFHS SEHUTT® HHHLILIH 6.

@BHwraled 2 arar &L Leslwreariger G jalmenewruiLd Qs mL_gLimes

FPMIFafled FUDTTS 6157

(a) 1 " (HLD

(b) 2 L @b

(c) Gopasewri_ @) Test(hLd

(d) GLoPFHRTL_ 6156 LOe)E® 6V



Answer:(a)l only

Explanation:

o The Government of India Act, 1935 envisaged a Public Service Commission for the Federation
and a Provincial Public Service Commission for each Province or group of Provinces.

e On I" April, 1937, the Public Service Commission became the Federal Public Service
Commission.

o With the inauguration of the Constitution of India on January 26, 1950, the Federal Public
Service Commission came to be known as the Union Public Service Commission.

e The Union Public Service Commission is a Constitutional Body established under Article 315 of
the Constitution of India.

o The Commission consists of a Chairman and ten Members.

o A State Public Service Commission consists of a chairman and other members appointed by the
governor of the state.

o Although the chairman and members of a State Public Service Commission are appointed by the
governor, they can be removed only by the president (and not by the governor).

o The president can remove them on the same grounds and in the same manner as he can remove a

chairman or a member of the UPSC.

e Q@QBFw ypFrEIsF FLUL D, 1935 Gueyd allfle) UGSSLILL L Fnl L T &
(LLSFw) PmILd A6V 9 FsLl Lewiwmers G e men sl sl FGT 2_(h6eUTS
RUTRYCE AT

o  Q@serLg &L uenilwrers CaieumenenTid L L T F  (LogSw) LiewilwTers
G raumenenrwions 01. 04. 193760 Lommwig).

o QBFW yrFemLoLiL) ClFWEd(LPEDE G upS @eTeudl 26, 1950 YD FmL L M
uessflwmery Gggeunenentwiid el oygaLi Lesilwmery Ggheunenentwitd 61t O)Liw g
LIHOLILIL L .

o @aIw &L Leslwners G ieurenewntid @)bFH W TFeHLOLIL] yusg 315

@)L 2 (FUASHSLILIL L FFOLOLIL] FIDIQUGTLD G LD.



o Gaioumewessiwid @k e, 10 2 0L eTiseens O)&TewTL e»LoLIL] 3@ LD.
o Akl &L ueslumrery G% e mecwTiidF 6T $eeval T , o miLiSesiser
S @BBITeL BWLlsSLILIL L CLIgLd GLYuIHsSeamevaugned oL HGL @ heuans hes
(LPLYUJLD (D, @B BITE D GVGV).

o @l &Ll uestiwmers GCaieuTenenTid Senevaus , 2 mILILNTIE®T bd @G LD
wpempuGovCur omplev oyparLi Liessilwmeary G Feu me cRrF) 6T &6 Ve ,

2 MILIGTIHE T LD &L W TFHSS® VT [bFHHGTLD.

162. Arrange the following committees in chronological order.

1. Ashok Mehta Committee
2. GVK Rao Committee
3. L.M. Singhvi Committee

4. Balwant Rai Mehta Committee

(@ 4, 1,23
(b) 3,4, 2 1
(c 21,43
(d) 4,3 2 1

SLPQUHURTAUDEND @ IGOLOSHLILIL L ,6UTLY.-6 L9 LILIGHL_Ue)

aflenFLiLi(h3FI%

1. Gang Gogsm @ Lp

2. GVK gmal @y

3. LM @mael Gup

4. ueveups grul CLoFST & (LD

(a) 4, 1,2 3
(b) 3, 4,21



(c) 2,1,43
(d) 4,3 2 1

Answer:(a)4, 1, 2, 3

Explanation:

Balwant Rai Mehta Committee

o InJanuary 1957, the Government of India appointed a committee to examine the working of the
Community Development Programme (1952) and the National Extension Service (1953) and to
suggest measures for their better working.

o The chairman of this committee was Balwant Rai G Mehta. The committee submitted its report in
November 1957 and recommended the establishment of the scheme of ‘democratic decentralization’,
which ultimately came to be known as Panchayati Raj.

o The committee recommended the establishment of a three-tier panchayati raj system—gram
panchayat at the village level, panchayat samiti at the block level and zila parishad at the district

level.

Ashok Mehta Committee

o In December 1977, the Janata Government appointed a committee on panchayati raj institutions
under the chairmanship of Ashok Mehta. It submitted its report in August 1978 and made 132
recommendations to revive and strengthen the declining panchayati raj system in the country.

o The three-tier system of panchayati raj should be replaced by the two-tier system, that is, zila

parishad at the district level, and below it, the mandal panchayat .

G.V.K. Rao Committee
o The Committee to review the existing Administrative Arrangements for Rural Development and
Poverty Alleviation Programmes under the chairmanship of G.V.K. Rao was appointed by the

Planning Commission in 1985.



o The Committee made the recommendations to strengthen and revitalise the Panchayati Raj

system.

L M Singhvi Committee

o In 1986, Rajiv Gandhi government appointed a committee to prepare a concept paper on
‘Revitalisation of Panchayati Raj Institutions for Democracy and Development’ under the
chairmanship of L.M. Singhvi.

o The committee recommended the Constitutionalisation of the panchayat raj.

veaupsrmul Ggsm @wp(1957)

o gareufl 1957 @6, Q)BFW IFTEISLO Ferps GodLiml  (Bg S L b (1952) LopmiLd
CsPw aifleurss GLLb  (1953) S wueuppler QFwedLITL e 9yuiey
QFuicusP@GLd, Yoy ADLILITGE OFWeOLBHUSDHTET BL_aULYScNHEHCH 6T
LfpGIILLSDGL @b Gpeoe HluLBGS55

e @B GUAIGT Sewevaul Licvalbs gl @) GogST peuni . YBSS GLp 1957
BULOLIFIGY F68TE| DPSenFHWF FLofLILNSS , ' LOSFHATTL &) LITaIevTEsSemS "~ Blmjeu
LB ISSS) B)F QIP NG LIGHFTWSS) TTg2 616Dl Pl L B

o AR I BHEG LIGHFTWSE eLoLiL] - Hga erailed S ga ergrl  Feer
(Crry g Csi560) auL' L 1y geralled LIEhFTwSH FLOS , AL L yaraied glevevr
uflopsgl (oeppss Cise) ploie G LRSI IS55!

9Cang Gogsm @wp(1977-1978)

o 1977 wawufled, @e15T I5H HCFTF CLoSHST F$696Vem LOUNG) LIGHFTUISHSE| TTLD
151 QI GYTIB1 % @5 .5 TGWT & (1 (& (LpeW&u BIILOS S ).

e Qg Yysavl’ 1978 Q)b saIg YPSenFeWw FLofLILS  HH LPMILD BTL 19 6D
of pFRWenL_Bg QUHLD LIGHFTWSS TT2) eDLOLIH LI L{%IL1L%56 LD

U LIRSS LD 132 LIf 6560 I%H6» AT 6 LpEIF) 1)

©  UEFTWSS IT GTID ApeID BS G (LS G LFewns Q)5 3 BHEG HeLoLiL
BTG AL L arailed glevevT Liflays , DG SCLp LOGHTL_6v LIGHFT WSHFH
LGS LILIL. Couesst(hLd 6TRTMILD LIfBSIH TSI )



).af. Ca. gral @ p(1985)

o 20775 GUGTHEF) LOHMILD UDIENLD QLAILIL] B L BIS@BSSTET B IaUTS (LpeHDSHED QT
LopIguie) OFuicgpsiar G & .ai.Cs. gral sevewenioulled 1985 @6 L &
S0 epesTTe) BWAFSSLILIL L G .

o  LIGHFTWSHG OT & eOLOLIGHLI USYILILI(HSSaLD . ysSGuig OlumeyLh
LA &I TS AT ()% G (Lp ILPBEIF WG]

616V. 67LD. FmIaf) & (Lp (1986)

o 1986 LD 9Y,GHTLY GV, TTRI FHMTHS) TFTEIGLD, 6T6V.6TLD. FBIQNUNGT 6w even LouileD,
‘QGTHTWSHLD LOHDILD UGTIFFHE TGS LIGHFTUSH| TTED eWLoLILFafewT LSS uild
OLDIF®D’ 618D FOWLILID 635 F(BSSI(hewaus SWTHES (1 & (Lpemau BlWLOF S5

e QBs G LUGHFTWSS TAD YOLILIDE TFWeIDLIL] BSeVS GULPEIS
LB ISS5S.

163. Consider the following pairs

A.Paddari Tribe - Jammu & Kashmir
B.Mankidia Tribe - Odisha
C.Porja Tribe - Andhra Pradesh

D. Bondo Poraja tribe - Maharashtra

How many of the above pair(s) is/are correctly matched?

(a) Only One
(b) Only Two
(c) Only Three
(d) All Four



LiesTeupLd (3)emersanans &aiauf)

A. ugmf upEIGLY - @O & HTaWLET
B.  LOGVTHIQWIT LILpEIG L9 - RLQFT

C. Gumigom LLpmiGLy - 557 LrCsFLD
D. GunesrGrLm Gurgmggm LiLpmIE g - LDSTTTOYLY T

Copsesr c1ggmarT (3)enent@)emenrsar FAlwmrsLl O\LITBbSIS PSP

(@) @eInl oL BILD
(b) @oesst(h) oL (HLD
(¢) epearmy Lo (LD
(d) BAGIGLD

Answer: (c) Only Three

Explanation:

o The Constitution (Jammu and Kashmir) Scheduled Tribes Order (Amendment) Bill, 2024. The
historic Bill aims at empowering (i) Pahari Ethnic Group (ii) Padari Tribes (iii) Koli and (iv) Gadda
Brahmin by providing Scheduled Tribe status.

e In Odisha, the PVTG communities added are Pauri Bhuyan and Paudi Bhuyan as synonyms of
the Bhuyan tribe; the Chuktia Bhunjia as a synonym of the Bhunjia tribe, the Bondo as a sub-tribe of
the Bondo Poraja tribe; and the Mankidia as a synonym for the Mankirdia tribe.

o In Andhra Pradesh, the PVTG communities included were Bondo Porja and Khond Porja as

synonyms of the Porja tribe and the Konda Savaras as a synonym for the Savaras tribe.



164. Match the following.

A. Sanjay Gandhi National Park 1. Uttar Pradesh
B.  Hastinapur Wildlife Sanctuary 2. Karnataka

C. Bandipur Tiger Reserve 3. Maharashtra
D. Anamalai Tiger Reserve 4.  Tamil Nadu

Select the correct answer using the codes given below.

4 B cC D
(@) 4 2 1 3
) 3 2 1 4
© 3 1 2 4
(d) 4 1 2 3

areu@peuatalipedm OLIT(BSSI%

A. FehFwl 1% CaFw LYEIST 1. 23509005510
B. amev@GTTLLT UeTal6V B FIGHTTCVW LD 2. SOBTL&T

C. UB@LiLT LeSFaT STLILISLD 3. LDETITOULYTT
D. 9,eGTLOENGV L{GOIH@T HTLILIGLD 4. sHBTGH




8C Qar@asLiLL Berar GPufBsemart LUSTL®SS FHlwmes allen_emws
Csip6lsHESa L.

Y
(a) 4
(b) 3
(c) 3
(d) 4

~ o~ NN

C
1
1
2
2

Uo-k-kbab

Answer: (c) 3

~
N
N

Explanation:

e Sanjay Gandhi National Park - Maharashtra
e Hastinapur sanctuary - Uttar Pradesh

e Bandipur Tiger Reserve - Karnataka

e Anamalai Tiger Reserve - Tamil Nadu

165. Match the following archaeological sites with their districts :

A. Panayakulam 1. Erode

B.  Alagankulam 2. Ramanathapuram
C. Kodumanal 3. Villupuram

D. Sendamangalam 4. Dharmapuri

Select the correct answer using the codes givenbelow :

A B C D
@ 4 2 i 3
®) 3 2 i 4
@ 3 i 2 4
d 4 i 2 3



LereupLd s muiail_BEenar SeupPler aaiL L BiS@pL 6T O\LIT(FSSa LD

A. LGOS GGTLD 1. 7Gpr®

B. 9LpS&TGaTLD 2. JABASLTLD
C. G&mLoessTed 3. fwpLiygid
D. GFBSLOBIFGLD 4. gy

86 GarRssLiuL Rarer GHuTRSmar LuaTLGSS FRlwuner LFamewg

Csip0lsBEsa)Lb:

4 B C D
(@) 4 2 1 3
(b) 3 21 4
© 3 1 2 4
d 4 1 2 3

Answer : (@) 4 2 1 3

Explanation :

o Panayakulam is a small village situated in Dharmapuri district. It lies in between Papparapatti
and Palakkodu. During excavation at the mound situated about 4 km from Papparapatti on the way
to Panayakulam revealed archaeologically important antiquities like potsherds, terracotta figurines,
bones, and bricks.

o Alagankulam is a village situated on the east coast in Ramanathapuram Taluk and district. The
village is situated on the banks of the river Vaigai and is about three kilometers away from the

seashore.



e Kodumanal : The Tamil Nadu State Department of Archaeology in collaboration with the Tamil
University, Thanjavur conducted excavations at Kodumanal situated in Perundurai taluk in Erode
District.

o Sendamangalam is situated in the Ulundurpet taluk of VillupuramDistrict. In the 12th- 13th
centuries CE this village was in a flourishing stage and it served as the headquarters of the Kadava

chiefs.

o  U®eTWEGaTd oLl  wreul L %D 2 eiar gk Amlw FFaLoLd N CYE
urdumrliul g wppib urewsGsr® Qe Gw o aTeng) - umaorglo g ufled
QB B& LewaTw Gartd GFewayd auflulled Fiomg 4 &).15 ClsTemevalled 26w LD BSI aTaT
G’ 1960 Yyspeumgmuis@uiler Gung unenes gBsar , OLgGsrl’Lm Henevsar,
eTLOLFGT LopmILd GlFmispsaer Gunein OFmeO0LITMHeT LWSFWS  FauLd aumuihs
LILpBISTeV O LIMBL &6T F6w LG5 6

o ILPSRTGGTLD TTLOBTSLTLD STVIST LOHMILD DAL L_SFH6V &) Lps 3G
SL_DHEHeTUIGO LD BSIOTAT (1 S IALOLD . @)bF HITLOLD DeUend D BlewT Hewguiled
LD BGIOTOTS| LOHMILD HL_HFHen Tudled) (b FLomF eLpestn) & CGeombL L i

Oz remevailed 2 aTerg).

o Qar@®Lewed: 3L0ps 9IFer ClFmevelled HenD , SEHFTT SLOLHLI LIDFH®6VSH
BLPESGIL_6T @Q)ementbg FGIT®R meul’ L b O\LI(hBSHIHD STFTAIG 69 LD bS5 GT6T
& T(R LTS 6D 9 FHLpTUIGY BL_BF W)

o aflgpLiygid e’ b 2 @pBSTICLUL e Freysralled CFBSLOBIFLD 2 GTaTF).
GG 12-13 b mIHpIT(H Hafled @QBS HomoLd @h O\FLiLimeT HL1L_G%H e

Q@ BBESS LODMILD Q&I HL_61 F6D6V6 TSN G FEHEHLOWIHLDTS OlFwedLIL L Gi

166. Which of the following statement is incorrect about. E.V. Ramasamy?

(a) E.V. Ramasamy is known as "Hero of Vaikkam"
(b) He accepted the "Gurukula" system
(c) He was the founder of Self Respect Movement

(d) He accept the Self Respect Marriage



BLHS5ETL_ FnpPISafe E.V. @Quaosmil) Lupplu Seuprest gpmn 615,

(a) EV. QomogFmid) "eneussLd afgs” 6167 26w pssLiLIH)Sm L.
() @i "GBG®" sevall Lpepe il ASNSS T

(c) @eud "Fwioflwnensd QuEsgHems” CHmwmailss T

(d) @eug "Fwioflurews HEBLATSID " AT SHSTH

Answer : (b) He accepted the "Gurukula" system

167. ‘COSTA SERENA'’ is related to which of the following?

(a) Humanoid Robot
(b) Cruise Ship
(c) Sports Ambassador

(d) Mission to explore the Sun

‘Camev L Caferr eareumeusraupPled 61g5e8IL a1 O\FML_jLjenL_wgP
(a) wesfg o meu CopmGuim

(b) LIWGSHTS HLILIGY

(c) aflewerwim’ (B IS0

(d) @&Awenet omujid G 1L Lb

Answer:(b) Cruise Ship

Explanation:

o The Union Minister of Ports, Shipping and Waterways, Shri Sarbananda Sonowal will launch
the domestic sailing of the first International Cruise Liner ‘COSTA SERENA’ in India at Mumbai.



e [t is a part of the 'Dekho Apna Desh' initiative, which encourages middle-class tourists to
explore more domestic travel options.

o Costa Cruises is expected to carry approximately 45,000 passengers in its next 2 months
voyages. These passengers would have otherwise booked from international destinations. The biggest

advantage is an International Cruising experience for Indians in Indian waters.

168. Find the value of x: if (128 /16 x X-7x2)/ (7 -8x6+X)=1

(a) 5
(b) 14
(c) 16
(d) 18

(128/16 x X-7x2)/ (7 -8x6+X’) =1 e1aafad, X &1 LoBILIL| HT6wTSH:

(@) 5
(b) 14
(c) 16
(d) 18

Answer : (a) 5

Solution:

Using the BODMAS rule.

(128 16 X-7 2) (77-8 6+X ) =1
(8 X-72) (49-8 6+X2)=1

(8 X-14) (49-48+X2) =1
8X-14) (1+X2)=1
(8X-14)=(1+X2)
X2-8X+14+1=0



X2-8X+15=0
X=50rX=3

169. Find the difference in C.I and S.I for P = Rs.5000, r = 4% p.a, n = 2 years.

(@ 6
b) 7
(c) 8
(d) 9

P = 5000 em, es7(® UL 1y fFLD r= 4%, n = 2 Y aTBHFaT eTeslled Fovfl UL’ 19 &G LD

LB L 138G @ Cw 2 arer aFFLD &Tesis

(@ 6
®) 7
© 8
d 9

Answer :(c)8

Solution:

C.I-S1=P (R/I00)"N = 5000 (4/100)"2 : 5000 X 4/100 X 4/100 = 8

170. The inner and outer surface area of the hemispherical dome of the building needs to be
painted. If the thickness of the dome is 5cm and the inner circumference of the base is 17.6m. Find

the cost of painting at the rate of Rs.5 per sq.m

(@) 48020
() 50170
(c) 22530
(d) 24640



I i&Csmar auig e CopameapuileT o L Lp QeellLiyp aeerLiLglilip@ aigewnrd
LF Gauairiy ujerangl.9SeT F19.L06wT 5 G& LS LoppILd ST 2 L LD 19 &Eppaere) 17.6
5. GogyiLd @ FHITLBL L (585G auiewtLd YF ep .5 GlFvaur&pg) eafled Gorss

O\FVem6U FTEHTS

(a) 48020
(b) 50170
(c) 22530
(d) 24640

Answer :(a)48020
Solution:

Now the circumference of the dome is 17.6m.

Therefore, 2TTr=17.6
2x22/7xr=17.6
r=(17.6x7)/2x 22
r=28m

The curved surface area of the dome = 2 TT ¥
=2x22/7x28x28

=49.28

Now, the cost of painting 100cm? is Rs. 5.

So cost of painting Im?= Rs.500

cost of painting of the whole dome =500 x 49.28
= 24640



171. A can do work in 45 days. He works at it for 15 days and then, B alone finishes the remaining
work in 24 days. Find the time taken to complete 80% of the work, if they work together.

(@) 16
®) 17
(© 18
(d) 19

A-gyeeoug @ Coauameverw 45 prearsefiew wpigLiimgy yeug 15 prenser L (BHLD
Caemawewd GlFuIBpmd LbFLpertar Galeneveni B-gyerall 24 Bretsafied (LpLySEmmi
eTafle), 9Bs Couanavuilar 80% g @)BaUWBLD Q)enewTBgl (LY &5 Y GLD CrIZmss

& TGBIT S,

(@) 16
(b) 17
(© 18
d) 19

Answer :(a)16 days

Solution:

A complete the work in 45 days.

A's 1 day work =1/45

A's 15 days work =15/45=1/3
Remaining work =1—1/3=(3—-1)/3 =

B finishes 2/3rd work in 24 days

B's 1 day work =2/3 24=2/3x24 = 1/36
(A+B) 's I day work =1/45+1/36
4+5/180=9/180=120

Let x days required



for 80%

< x20/80 100= x=80100%20=16 days

172. The bacteria in a culture grows by 5% in the first hour, decreases by 8% in the second hour
and again increases by 10% in the third hour. Find the count of the bacteria at the end of 3 hours, if

its initial count was 10000.

(@) 15000
(b) 16700
(c) 18390
(d) 10626

R s  Unseflum (pFwrag el CEISFHe® 5% aaTiFF ewL_BGILD
@)rer_maig) Loewfl CEusHed 8% euerisdd GeIPlyLd epaIipaalg) Loesshl Gros 5 e
10% ouanidd oL _BGId STRTLILIGEDI. (PSS ST eTarenflseans 10000 %
@133 eratied epastn) Loewt! CBISHD G LD G ST TeSTEw!S5WEHE WL &T6HTS

(@) 15000
(b) 16700
(c) 18390
(d) 10626

Answer :(d)10626

Solution:

A =10000 (1+5/100)(1-8/100)(1+10/100)
= 10000(105/100)(92/100)(110/100)

= 10626



173. Upon seeing which of the following works ‘Alberuni’ quoted, "Our people, when they see

them, wonder at them, and are unable to describe them, much less construct anything like them."?

(a) Gangaikonda Chozhapuram
(b) Thanjavur big temple

(c) Kallanai dam

(d) Meenakshi Temple

Larau@pLd e15emet ST aMwBg ‘OGLI(GET’ “eTEISET LDSS6T SIS HGHT(H
QW LI LIGH L_GU TS 6IT. Y, GOTITEY, SeHET Ijaujsarted afleufids @ wewngl. g GLmen

PADED HUTFATTEV FL L QLD (LPLYWITS[ GTGITM Jon ) GSTTI?

(@) smiIens O\smest_ CFmpLgLd
(b)) serFrayd Ouflw Carailed
(c) HGUGVGHGHT G5 GST

(d) et & Cxmailew

Answer : (a) Gangaikonda Chozhapuram

Explanation :

o The irrigation work done by Rajendra Chola I at Gangaikonda Chozhapuram was an
embankment of solid masonry 16 miles long.

e Rajendra described it as his 'jalamaya jayasthambham', meaning “pillar of victory in water”.

o The Arab traveler Alberuni visited the place a hundred years later. On seeing them he was
wonder-struck and said: ‘“Our people, when they see them, wonder at them, and are unable to

’

describe them, much less construct anything like them”, records Jawaharlal Nehru in The Glimpses

of World History.



o smI®&0sTTL CFrprgHed psevmd QurGmp@r Camper ClFuis
BILILITFTL] LIGTlWw Mestg) 16 69LOGY BT(LPGTET F)L_LDTGST 965 GOSTWI TG LD.

o TCYEHESHIGT s ‘oo GlwevsLoLILd' 6Ty aNeuRNSSTT, HSBTeus "B
FevL_gs CleupPluflet Bleneseuns er(pLitw gyress”.

o 100 YRS @p%HGL LIDG Q)BS Q)L-551%G aps 2 CrLiw eugewrnmrd flwgret
< OLIGLIehes] (R)FHL HLoTET 96w LoLien Lid FHesst(h) aflw BT

o “GIBIFGT LDEFOT HFM6TH H65sT(h) AIWILILIGH L_QUTTHGT . YETTG), ST
9euisarted afleuflas Quievns . 9% CUTEID RSTDEOD 9 UTHATTC L L afLd
(L WG eTeIm| OLIG)LIehesf) LB ey ClFuigererTy.

174. The Virupaksha temple at Pattadakkal is built on the model of which of the following

temples?

(a) Brihadeeswarar temple
(b) Kailasanatha temple
(c) Kasinatha temple

(d) Muktheeswara temple

UL’ L m _Ss@alle s L Liul L a@pLur  gi Camailewmests Lier QI(BLD GTHS

Garailenev orBRwns Csresr(®) SL L LiLiL" (HeTergP

(@) LrsSaveurg Casmailed
(b) wsVIFHIST CHTaileD
(¢) s1RBI5T CHralled
(d) waBaveug Cxsraled

Answer : (b) Kailasanatha temple

Explanation:

o The Sangamesvara temple and the Virupaksha temple are famous for their Dravidian style.



o The Virupaksha temple at Pattadakkal is built on the model of the Kailasanatha temple at
Kanchipuram.
e Queen Lokamahadevi constructed Virupaksha Temple in 745 CE to commemorate her husband's

(Vikramaditya Il) victory over the Pallavas of Kanchi.

o  FmFGavelgy Casmuileyd aIpLinm  FiCasmuileyid Horalill L sepevLi
umessilufled LysLp GlLpmen e

o  FMGHALTSFH 6V 2 aiTaT wFVTFRTSHT CHralled LorGNuled L1’ L mL_5%606060

2 arar QLT FFGHmaNed L1 LiLiL” (heTerng).

o gressfl GovnswantGsall 745 CE Qe &mehFuie LicOvealisefar L5g & 6ol
sewstau  (QIF@Iwr@sser 1) OQumpmp CeupmBluier Bleoesteuns ol pLiLm g

Camuilenevsd &L 19 Ty,

175. Who among the following described Amaravati session of the Indian national Congress held
in 1897 as “Three days tamasha”

(a) Ashwini Kumar Dutt

(b) Bankim Chandra Chatterjee
(¢) Hemchandra Kanungo

(d) Surendrenath Banerjee

1897 @& pevL_GCupp @EPw CsPw sTEIS Fedler ogTaIS ojemal  "epeiipl
BT SLoMay” eTaln afleufdsals wmP

(a) Zevailes] GLoMTT 5%

(b) uBIGILD FHFT FL_L [l
(c) CamiodFn® T He9imGHT
d) #GopSomrs LimeTiss)

Answer : (a) Ashwini Kumar Dutt



Explanation :

o Ashwini Kumar Dutt said that it is a “three-days Tamasha” about Indian National Congress in
1897 at Amravati session.

o He was elected as a delegate to the second session of Indian National Congress.

e He founded the Swadesh Bandhab Samiti to promote the consumption of indigenous products

and boycott foreign goods.

o 1897 y1b gyes1(R LogmeuBuiled pewl_OlLpm QBFw CsPw H1mIF FaD
LI “ PLPGTM BAGT SLOTaHT’ 6TeIm eV eilest] GLoTT $F Fo et

e ©@BHw CsHw s1EIFH TadleT Q) gesTL_Taig jLoFad &1 TP BB W TEH eud
Caip0sBHESLILIL LT,

o 9oui &0sF LpsL FLOBew Bmial) 2 erprL (B OLm(hL FelesT B1%TeH e
2a18&I$STH LoPpmid CleuaflBmL B OLm@pL Sear LnFseanllssmh

176. Consider the following pairs

1. Blue vitriol - CaS0O,2H,0
2. Gypsum - FeSO,.7H,0
3. Deliquescence — NaOH

4.  Hygroscopic — CaO

How many of the above pair(s) is/are correctly matched?

(a) Only One
(b) Only Two
(c) Only Three
(d) All Four



LiesTeupLd (3)emersanans &aiauf)

I fo el Awmed ~ CaSO,2H,0
2. efllieh — FeSO,7H,0
3. mod 2 PlehPF FewaLiemey — NaOH

4. o) o Plehd — CaO

Copsesr c1ggmarT (3)enent@)emenrsar FAlwmrsLl O\LITBbSIS PSP

(@) @eInl oL BILD
(b) @oesst(h) oL (HLD
(¢) epearmy Lo (LD
(d) BAGIGLD

Answer: (c) Only Three
Explanation:

e Bluevitriol - Copper sulfate pentahydrate - CuSO,.5H,0

e Gypsum - Calcium sulfate dihydrate - CaSO,.2H,0

e Certain substances, when exposed to the atmospheric air at ordinary temperature, absorb
moisture without changing their physical state. Such substances are called hygroscopic substances
and this property is called hygroscopy.

e Hygroscopic substances are used as drying agents.Example:Conc.Sulphuric acid (H,S0O,),
Phosphorus Pentoxide (P,0;), Quick lime (CaQ), Silica gel (SiO,).

o Deliquescence is the one, When exposed to the atmospheric air at ordinary temperature, they
absorb moisture and dissolve. Examples: Caustic soda (NaOH), Caustic potash (KOH) and Ferric
chloride (FeCl,).



177. Which of the following vitamins caused the deficiency disorders called Pellagra?

(a) Vitamin Bl
(b) Vitamin B2
(c) Vitamin B3
(d) Vitamin B6

Hareu@pd ewaul’ L Llaisefied 615 OLasIT eTarLiLBd Genpur @ Cpruisenar

apLBSSEDGI?

(a) emwauL L _LOeT Bl
(b) emauL L _LHeT B2
(c) e@auL 1 _Lber B3

(d) emaul’L_Lbler B6

Answer: (c) Vitamin B3

Explanation:

Vitamin B3 (Niacin)
o Sources: Milk, eggs, liver, lean meat, ground nuts, bran
e Deficiency Disorder: Pellagra

o Symptoms: Inflammation of skin, loss of memory, diarrhea

178. The Lokpal and Lokayukta act was passed in which of the following year?

(@) 2012
(b) 2013
(©) 2015
(d) 2019



Gevnaumed oppid Cevns YujsST FL L LD LIGTQIHLOCTHS <I,c8TLe-60

BlenpGauppLiLi’ L g?

(@) 2012
(b) 2013
(©) 2015
(d) 2019

Answer:(b)2013

Explanation:

e Lokpal means People's Guardian.

o The term was coined by jurist L.M. Singhvi in 1963.

e Lokpal is empowered to investigate all Union Ministers, Secretaries and State officials.

o The Lokpal Bill was first introduced in the Lok Sabha in 1968. After that, 8 times were made to
pass the Lokpal Bill but failed.

o The Lokpal and LokAyukta Act was passed in 2013.

o Finally the Lokpal and Lokayukta Bill (2011) was passed and received the President's assent on
1 January 2014.

o LokAyukta acts as a people's grievance redressal and anti-corruption body at the state level. The
first LokAyukta system in India was started in Maharashtra in 1971.

o In 1970 Odisha enacted the LokAyukta Act, but it was only in 1983 that the LokAyukta system

was established in Odisha.

o  CrgLImed 61D T LOSHSGIT HTUGGH 6T63TM] ©)LIT(HGT
s QBs uTiseEnFew FLL O BT LM FEiad 196360 9plaiss
o Gawrgumed P w e bFFIFHeT , CFWTATISOT LOPMILD LDTBeV DS THE 6T

TG T T LD NFTHEGLD HYPFHTILD LIGHL_SF5)



o CGaraumed LoGFTHT (LpSHET (LpS 6060 196860 g FaTemauuiled 9P  (LpHLD
Oewiwdiul’ L g 9gerin@ 8 wpewp Covrgumne wCFrgmemeu BlewpGeupm
(PWHRSSILD Blewn Goumailedenev.

o Georgumed wpmid Cevnd YuyssT FL 1L LD 2013 QLD Y,GWTLY GO
BlewpCGeupmLitil L g.
e Q@miPuwns Gewrgumed wpmid Cevnsd yujssT oCFrgT (2011)

Blewp CeuppLivi’ B 2014 gereud] 160 &L W THS SOl @LIL|Ge ClLmLitil’ L g
o Govns QuasT aple Yatalled LDESHAT GHewD SILILIGHUWITSQ LD 29TLDeVI% S,
GTH TGS Yoo LiLiTEa L CFueLGEDg . QBHwuraled s Covrdg oy, ussT
DI®LOLIL| LDSTITeNLYTTIN 197160 OFTL_mISLILIL L g

e 19700 @uauTomplevd Cevns 9y ujssTellnsTet FL L Geos @Quippslw
Cur@ed 1983 9Ld Yess1(B) FMe8 Ly apTalled Cevrd U FHHT eoLoLiL]
Blmjeuiti’L g

179. Poverty eradication (GARIBI-HATAQO) was the motto of which of the following five-year

plan?

(@) Fifih
(b) Sixth
(c) Tenth
(d) Twelveth

aupienLo @fILiL) (GARIBFHATAO) etavrLIg) LI6iTal (HLD 6ThS @bSTewT(RS FL L 5 Fewr
GDECSHTAT 2,&HLD?

(@) BSTIG
) preuzy
(c) LgsTOIZ
(d) LicvTest) gessTL meug)



Answer: (a) Fifth

Explanation:

o Garibi Hatao' was the slogan given by Indira Gandhi at the time of the fifth five-year plan. It

was given for the objective of poverty aviation and employment creation for a better life.

180. “An Indian farmer is born in debt, lives in debt, dies in debt and bequeaths debt”- Who said

this?

(a) Adam Smith

(b) Gandhi

(c) Amartya Sen

(d) Sir Malcolm Darling

“@rHwu allaiFmd sLerrelwnrs K9PBS , SLQTTANWTS QUT PBS, HLTTaNWLTS
@Bl sLdaTCWw FESPEG AL HF OFvEprar” @FOFTHCDTL_wis Foplweis

wmg?

(a) L b evLO)S

(b) MBS

(c) iBwm QFer

(d) F0 LbTeVSLD L_mFed)mi
Answer: (d) Sir Malcolm Darling

Explanation:

Indebtedness:



e People in rural areas are highly indebted owing to poverty and underemployment, lack of farm
and non-farm employment opportunities, low wage employment, seasonality in production, poor
marketing network etc.

o A famous British writer Sir Malcolm Darling (1925) stated that ‘An Indian farmer is born in
debt, lives in debt, dies in debt and bequeaths debt’. Since formal loan facilities are not available to
the villagers, they depend on local money lenders who, like a parasite, squeeze the villagers. Hence

the villagers commit suicide frequently.

181. The Reserve Deposit Ratio consists of

(a) Vault cash in banks

(b) Currency held by the public

(c) Deposits of commercial banks with RBI
(d) Both a and c

CorEs @ @LiL ewailiy alSGLd eTEemaentd )& Tt (R eTaTg!

(@) ungsTLyL QUL L $8F 6 eeus P HsGHLd Q)LL)
(b) LG ES6T U6 696USF) (hdGLD LIGRTLD

(c) Aeial eum&Builed emeus P (5% @GLD ClITs% enauLiL)

(d) a pmiLd ¢

Answer: (d) Both a and c

Explanation:

e Reserve deposit Ratio (RDR); Reserve Money consists of two things (a) vault cash in banks and
(b) deposits of commercial banks with RBI.

o Ongs QLI eweuLiL & SLd (Reserve Deposit Ratio - RDR): UngI&mLLL]
OuL' L $3F 60 ®aus P (HSGHLD @)(HLILILD eoLow auBIFHuled 96eus D) (5% GLD O\ TTES%

®ULILLY/QDISS e aILiL|FeTeTaD aIFSLA



182. Which of the following statement/statements is/are correct regarding Black soils?

I Minerals like iron and magnesium are abundant in it.
1I. Covers over two-thirds of the total area of Tamil Nadu.

1II. Crops growing are Cotton and Tobacco.

(a) Iand Il
(b) Ionly
(c) Il only
(d) IandlIl

SMILIL LoewT OB mTL_jLneT LeTeumLd FpmIsaied 6TgfeTen ey FilwmesTgyFiwmesTeneu?

I @Q@LoL pmILd LSTRAWLD HFHLDTH &TeRTLILI(HF DS

II. s0pprL g6 Owrgs LFLiLeTaled HLDMT epeTPled Q) TesT(h LimkIE
Lgeiluy eTergy.
III. LUBSS) PYILD Leosullenev S W LIUlFSHeT HETE aUaT(HLA

(@) Iopmid Il
(b) I oL (BLd
(¢c) II o @b

(d) I pmio 11

Answer : (c) III Only

Explanation :

e Rich in minerals such as iron and magnesium.
o Deficient in nitrogen, humus, phosphoric acid and lime.
e Nature - Light texture, porous friable presence of limited soluble salts. Clay fraction of the red

soils generally consists of Kaolinitic minerals.



o Distributed in Eastern parts of Deccan plateau, southern states of Kerala, Tamil Nadu,

Karnataka and Chota Nagpur plateau (Jharkhand)

o Ceau@ulwew uesyE6T: Q)(BLOL LOHMILD LOSHTRWLD HFHLDTE &TeRTLILIBF DI
e ®pBLIM&r  @eewl GsarurevCumils  YLOLD LPHMILD FESTESTTLOL]
FSHHIFHF T (&G D 6UTSH & Te8TLI LI (B ) 63T GoT.

o  LOGETGWIG SRIGHLOSEGT : OlLoeigFenseT, GO LiL BHeTar 2 LiL|&SHeIFeD |
OeucwraaflLl LITewDS S TEHISH6T, Fmy ©)6Lg LiL|%EhL 6T Folg W O)FLDLOGST LILG .

o ugaue) : sasrent L iflulles HpE@L LGS , Gger wilewmsgertear Gsgarr,
SUPBI®), SIBTLST opmd CFm’ L m prsLd L1106 emissesnr”

183. In which of the following places the 'Southern Ellora' temple is located?
(a) Thirumayam
(b) Kalugumalai

(c) Thiruparankundram

(d) Kundrakudi

‘Clgarenssg 610 CmIT 6Te e pasLILIRL CHTalled IeoLubSIeTar @)L Lb?
(@) S@LowLd

(b) S(PEGHLDE®GV

(c) BLILITEIGTDLD

(d) STTDSS1

Answer : (b) Kalugumalai

Explanation :



o The "Vettuvan Koil' at Kalugumalai is the only known example of a Pandya era monolithic
temple that was carved out in three dimensions, in-situ from the top of the hillock.
e Itis called 'Southern Ellora'.

s

o FHUpGLL@Uile) 2 aTaT ‘CeuL”BHeuresr Gz mulley LITGRTIQ WIS QRDEODS
sPpaf&EGHF FFIDIGL.  weevuileT 2 FRUle) @) hBSI (LpLiLIf Lo TeRTS F) 60
OegISSLILIL L LTessTy W $T0S G @DennsEed Csmuileder ¢Gr o &myesLd
@)g10TGLD.

o Q)5 Cgarenssg 6TedBVTIT 616N LHESLILIGB DS

184. Which of the following pairs are matched correctly?

A divided district District

1. Mayiladuthurai Cuddalore
2. Kallakurichi Viluppuram

3. Ranipet Vellore

Select the correct answer from the codes given below:

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) All the above



earau@pLd @)ewesrsafied erenes FRlwnsLl QLI 5ES5% nSP

AGsLLC L omeul’ L b LTIl L LD

1. wullevr(hgiemm ST
2. F6TeTHGHDFF flupLinygd
3. gresflLCu emL_ Gouayry

8C GarRssLiuL Rearear GOuiBSafed BB FRuneT allen_mw CaiB0lS®:

(@) 1 wpmid 2 1oL (HLH
(b) 2 wpmiLd 3 oL (HLD
(c) 1 wpmid 3 oL (HLH
(d) GLopEHeRTL 6W 6T G LD

Answer: (b) 2 and 3 only
Explanation:

o Mayiladuthurai is the 38th district in Tamil Nadu. It was formed on March 24, 2020, after being
bifurcated from the Nagapattinam district.

o Kallakurichi District is announced as 33rd district by bifurcating Viluppuram district on the
floor of Assembly by Hon'ble Chief Minister on 8th January 2019.

e Ranipet is a district of Tamil Nadu, India, formed by trifurcating the Vellore district. The
Government of Tamil Nadu has announced its proposal on August 15, 2019, together with Tirupattur
district.

o However it was officially declared on November 28, 2019 by the Chief Minister.

o The town of Ranipet would serve as the district headquarters.



185. The function of ensuring the availability of drugs and medical facilities at all Government

Medical Institutions in Tamil Nadu is under the control of?

(a) Directorate of Medical Education
(b) Directorate of Medical and Rural Health Services
(c) Tamil Nadu Medical Services Corporation Limited

(d) Directorate of Public Health and Preventive Medicine

SLOLD BT 196D 2 aiTaT Yyewesid gl ClLITG HFETSTT HLOWEIEZGNGILD LD(BBSIHET LoD DILD

s ga CFamaiser FeoL_LiLensg 2 miS ClFuiujd yeoLoLiL]

(a) LDBSSI HeOaI @) USEBIHLD

(b) WBSSI LOPWILD FITOLILD FHHTHTT CFenaUSaT ()1 BISHLD
(¢) SOHBHI® LO(BSSIR LIGSTIHGT HLpSHLD

(d) Qung &&agmy wPmid G LIL] LDBSSHI6 Q) WS G BISLD

ANSWER:(c) Tamil Nadu Medical Services Corporation Limited

Explanation :

e Tamil Nadu Medical Services Corporation Ltd.,(TNMSC) was set up with the primary objective
of ensuring the ready availability of all essential drugs and medicines in the Govt Medical
Institutions throughout the State by adopting a streamlined procedure for their procurement, storage
and distributionlt was incorporated under the Companies Act, 1956 on 1/7/1994 and has commenced

its functions of purchase, storage, and distribution of drugs and medicines from January 1995.



186. Which one of the following countries has received the 'Measles and Rubella Champion'

Award?

(a) Thailand
(b) India

(c) Sri Lanka
(d) Bhutan

ataimmLd prhsefed 616%5 HT® '$LL_LH@oLo LopmILD ehGlLGOT FTbLwer !

aflpensLi OB meiTeng)?

@ smieTis
) @QBFwm
(c) Qovmiens

(d) L L_mer

Answer: (b) India

Explanation:

o India has been awarded the prestigious 'Measles and Rubella Champion' Award by The Measles
and Rubella Partnership.

o In recognition of the country's tireless efforts to combat Measles and Rubella, India has been
bestowed with the prestigious Measles and Rubella Champion Award by The Measles and Rubella
Partnership at the American Red Cross Headquarters in Washington D.C., USA in 2024.

o Ambassador Sripriva Ranganathan, Deputy Chief of Mission, Embassy of India, Washington
D.C. received the award on behalf of the Ministry of Health and Family Welfare, Government of
India.



o The Measles and Rubella Partnership comprises a multi-agency planning committee, including
the American Red Cross, BMGF, GAVI, US CDC, UNF, UNICEF, and WHO, all dedicated to

reducing global measles deaths and preventing rubella illness.

187. When was World Ozone Day observed?

(a) June 8

(b) September 16
(c) October 16
(d) July 14

2 s @CFmerr Gerrd e1LICLING IeIFfSsELILIBD S DSP

@ ggoas

(b) Q&FLiL_LbLig16
(c) &@L_mugl6
(d) s39enev 14

Answer: (b) September 16

Explanation:

o The Ministry of Environment, Forest and Climate Change (MoEF&CC), celebrated the 29th
World Ozone Day here today. World Ozone Day is celebrated on 16th September each year to
commemorate the signing of the Montreal Protocol, an international environmental treaty for
phasing out of production and consumption of Ozone Depleting Substances, that came into force on
this day in 1987.

o World Ozone Day is celebrated every year to spread awareness among people about the

depletion of Ozone Layer and the measures taken/ to be taken to preserve it. The Ozone Cell,



Ministry of Environment, Forest and Climate Change, Government of India has been celebrating the
World Ozone Day since 1995 at the National and State levels.
o The theme for World Ozone Day 2023 is “Montreal Protocol: fixing the ozone layer and

reducing climate change”.

188. In how much time will the simple interest on Rs.3,000 at the rate of 8% per annum be the same

as simple interest on Rs.4,000 at 12% per annum for 4 years?

(a) 4 years
(b) 6 years
(c) 8years
(d) 10 years

3,000 e IYFIBG AFTHSG 8% 6Tes uPESLILIGLD Sefl UL g wnerg 4,000 e
FVISBG ASTBSG 12% e1a8 4 YT(HSEHS%G UPBISLILIBLD SeafleuL 19853,

BSITGLD SMLD 6Tes6wt

(a) 4 years
(b) 6 years
(c) 8years
(d) 10 years

Answer:(c) 8 years



189. The collar of a shirt is in the form of isosceles trapezium whose parallel sides are 17 cm and
14 cm and the distance between them is 4 cm. Find the area of canvas that will be used to stitch the

collar.

(a) 65
(b) 62
(c) 64
(d) 69

R FL e L_ullewT e UGS @) BFLOLISEHE FHAQUISLOTE 2 aTeTg) . BT
Qe iLEEEIS6T (WenpBw, 17 G5 wpmid 14 G& 15, 2 wgld 4 GF LB o1 asflev,

ST SLILISHE LWRTLBRSSLILIGLD FIeHulesT LIFLILIGTEn 6 &T6HHTSE

(a) 65
(b) 62
(c) 64
(d) 69

Answer:(b)62

Solution:
A=1/2(a+b)h
=1 (17+14) 4
= 62cm’2



190. Find the missing character in the following question.

4 7
5/1|64\3
1\27|? /8

8 2
(a) 1
(b) 25
(c) 125
@ 216

4 |7
5/1|64\3
11\27|? /g
8 2

@ 1

(b) 25

(c) 125

d) 216

Answer: (d) 216

Solution:



Clearly, (5-4)"3=1;(7-3)"3 =064, (11 -8)"3 =27.
So, missing number = (8§ - 2)"3 = 6”3 = 216.

191. Rahul’s mother is the only daughter of Monika's father. How is Monika's husband related to
Rahul?

(a) Father

(b) Grandfather
(c) Uncle

(d) Brother

Answer: (a) Father

Solution:
Clearly, the only daughter of Monika's father-Monika herself. So, Rahul's mother-Monika. Thus,
Monika's husband -father of Rahul

Guneflsnaller spmss@ gr@edlar smul @G waar ereslled GLomesflsm @f)eor
SERTQU(HSGHLD TTGHNVISEGLD GTRTRT 2 D@ (LPEOD ) &SHLE

(@) BBS
(b) sIBSHM
(c) LomLDm

(d) sCxsnsgr
LIB: (@) BBdS
Siay:

Gunesflasmaier spensuilesr Gr wasear - Gureflasm  grgedler smui - Giomedflsn.
GromesflEmailet &esstaud- 71@ 60T Shens



192. In a row of boys, Kapil is eighth from the right and Nikunj is twelfth from the left. When Kapil
and Nikunj interchange positions, Nikunj becomes twenty first from the left. Which of the following
will be Kapil's position from the right?

(@ 8"

(b) 16"
(c) 17"
d 21"

Fpicugseficr auflensuilev , 960 auLOBBSI 6TL L Taug QL SBILD, BGEHF
QLB B LicresfigaTL_maug @)L SPILD 2 aTaresy SLVILD )& @HFHLD

@ wrppLd CFwiydCung, Bl&ehs @)L LOBES @)(BLSS QREIDTLD BLITTE DT
eTarfled UGILIDSF e @) (BBSI FHLIeSaT Blewad

(a) 8 augl

(b) 16 euzy
(c) 17 eug
(d) 21 augy

Answer:(c).17"

Solution:

Since Kapil and Nikunj interchange places, Nikunj's new position ( 21st from left) is the same as
Kapil's earlier position (8th from right).

So, the number of boys in the row = (20 + 1 +7) = 28.

Now, Kapil's new position is the same as Nikunj earlier position i.e., 12th from left.

Kapil's position from the right = (28 - 11) = 17th.



193. 10(87)7:5(59)9; then 7 (?) 4.

(a) 29
(b) 39
(c) 42
(d) 30

10(87)7:5(59) 9; etefled 7 (2) 4.

(@) 29
(b) 39
() 42
d 30

Answer:(b) 39

Solution:

I0x7=70:-70+710+7) =87
Sx9=45:45+r5+9) =59
7x4=28;28+(7+4) =39

194. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per annum is Rs. 750.

Find the sum?

(a) Rs.3000
(b) Rs.3750
(c) Rs.4500
(d) Rs.5250



&LIGale @ GPILLIL LS Qsneanss@ 10% L'y afsLd 2 oy aaBSaer &S5 Rs.
750 208 saflail’ 1 WNEF OV FQISFRTTC) FMGVE FTCHHTSH?

(a) Rs.3000
(b) Rs.3750
(c) Rs.4500
(d) Rs.5250

Answer: (b) Rs. 3750

Explanation:

S.1=750Rs
R=10%

N =2 years
pP=7

S.I = PNR/100

P =(S.IX100)/NR
= (750X 100) /2 X 10
= 3750 Rs.

195. Which incident made Gandhi announce the suspension of the non-cooperation movement ?

(a) Jallianwala Bagh Massacre
(b) Chauri Chaura
(c) Rowlatt act

(d) Khilafat Movement



RIS PW T @QUESFF®S ST WY S6T SBLOLILI OLIDIusTE P aiss ameaiss

FLOLIQILD 6TS|?

(@) @QmeSWIGHT amTeVTLITS LI(H 6)% Ten 6V
(b) Qzard) GlFarym
(c) Guemev” &L 1 b

(d) Sewrug QuSHHLD

Answer :(b) Chauri Chaura

Explanation :

®  Chauri-Chaura, a village in Gorakhpur district of UP had an organized volunteer group which

was participating and leading the picketing of liquor shops and local bazaars against high prices.

® On 5 February 1922, Congress procession, 3000 strong, was fired upon by police enraged by the

firing, the mob attacked and burnt down the police station. 22 policemen lost their lives.

® |t was this incident which made Gandhi announce the suspension of the non-cooperation

movement.

® I1pGIG F®LFGT LOPMILD 2 6iTeah] Fhenguled yHs aflewcvs@Li ClmpL ser
ApsLiLiheuensd FHTQSH R SRARTRTTTSE  GLp YTLILILITL L BIHHaT
BLSHWGI

o 1922 19uigeufl 5@)eb 3,000 BLITSHE@FLGT LS @B FTEIF Tev S FL1 CLigest L5
CunmeSeng pLEPW FLULLTERF HLLI®O YSHIW®L HS pFLILT L &
Guallars sTale) Bloowuimss GPloSS F15G50 bLSBHWUCHTH I3
6155 B0 22 GureSamy o ulflLp B ety

* QB3 plEpa HYBSH FTHFUIYF6T RIS PWTEDL @) UISES®SS F(HLOLILI
Cpiausns o pleilgs



196. Consider the following statements :

L Itis a natural port.
Il It is the country’s highest cargo-handling major port.

III. It holds the distinction of being the first major port on the East Coast to be commissioned after

independence.

With reference to the above statements, find out the correct port:

(a) Kolkata Port

(b) Paradip Port

(c) Visakhapatnam Port
(d) Kamarajar Port

LIGT@UIHLD Fon D DIFEH GV &5 6LGHT]

L @)% @0 QUD®S HIODUPHLD G LD.

II. @&l BT 1967 L& 2 WHkS FI8G eSHWT@HLd OLIflw &1ewmLpFHLOTGLD.
1. Qg &3BFISHDGL LIDG F &G sL_paseguiled QuasLiul L wpged Glfw
SO (LpSHLD 6165 6l LI(Hew Loem w OV ) iTens).

Cupsas FpnIFeoars 0\EmTesT(®), FHUWTGT IeHD(LHESWSS FeSTL_ DI :
(@) G&TOSFSHT FIGOM(LPHLD

(b) LUTISLI 1D LPFHLD

() NFTEHLILIL 19 6TLD IO (LPFHLD

(d) STLOITERT SHI69MD(LPFHLD

Answer: (b) Paradip Port



Explanation:

® Paradip Port has become the country’s highest cargo-handling major port, surpassing

Deendayal Port, Kandla, for the first time in 56 years during the financial year 2023-24.
® Paradip Port is a natural, deep-water port.

® [tis located on the East coast of India in Jagatsinghpur district of Odisha.

® [tis located at the confluence of the Mahanadi river and the Bay of Bengal.

® The port is managed by the Paradip Port Trust (PPT), an autonomous corporation operating

under the Ministry of Shipping through the Major Port Trusts Act, 1963.
® Paradip is one of India’s major ports and the sole major port in Odisha.

® [t holds the distinction of being the first major port on the East Coast to be commissioned after

independence.

197. Match the following :

A.  Coimbatore 1. The Detroit of Asia
B.  Thoothukudi 2. Knitting City
C. Sivakasi 3. Pump City
D. Chennai 4. Little Japan
E. Tirupur 5. Gateway of Tamil Nadu
A B C D E
(@) 2 1 5 4 3
b) 5 2 4 1 3
(c) 3 5 4 1 2
(d) 4 1 2 3 5



Lareu@peussaipenpLi QLITBSS:

A. Casrwbyssng 1. pPwmellesr Gl gmuir”
B.  &1551%GL 2. Lesresevmen L& 66T hHILD
C. Qoustd 3. SIPPUPSS AewFs GLpTUl BHILD
D. Ogerenes 4. &L1g @oLiLimes
E. @Liyd 5. BOIPSS BT Biew LpeuTuled
A B C D E
@ 2 i 5 4 3
®) 5 2 4 13
© 3 5 4 I 2
@ 4 i 2 305

Answer:(c) 3 5 4 1 2

Explanation :

® Coimbatore is also referred to as “the pump City” as it supplies two thirds of India’s
requirements of motors and pumps. The city is one of the largest exporters of jewelry, wet grinders
and auto components and the term “Coimbatore Wet Grinder” has been given a Geographical

indication.

®  Thoothukudi is known as the “Gateway of Tamil Nadu”. Thoothukudi is the major chemical
producer in the state. It produces 70 per cent of the total salt production in the State and 30 per cent

in the country.



® The town of Sivakasi is a leader in the areas of printing, fireworks, and safety matches. It was
fondly called “Little Japan” by Jawaharlal Nehru. It contributes to 80% of India’s fireworks

production. Sivakasi provides over 60% of India’s total offset printing solutions.

® Chennai nicknamed as “The Detroit of Asia” is home to a large number of auto component
industries. Tamil Nadu has 28% share each in automotive and auto components industries, 19% in

the trucks segment and 18% each in passenger cars and two wheelers.

®  Tirupur known as “Knitting City” is the exporter of garments worth USD 3 Billion.

o QrFwuraiar Caseneusafled cpatPdled @oewr(y UmI@ Grl'L miger wpmiLd
ULDLISEneT euLpEIGeugTed GHmuLbLSHTT " STPPUPSS alenss Gpmul BEI "
erapId GO LILBEDS. FBI% HSVGTHET, LDTa HY®THGHLD QUBSHILD,
wPnILd urseT 2 FALILTEL gpnILBHuied (LPEFWLLTET LIBIG UFILILIET
“CHmuLdYSSTT LOTe YagsGHd QUBbSIsFvsTer” LailFrg @Golufl e L
QupmIeTeTS).

* 15515 “SOPETLIgET Hewpe aumuiled” eTeT Y LpSSLILIBF DS
wrBlwsse G Lblurmer 2 PpusHUID SHTSHEGLY (PSOL_LD UFHSH D).
@pFw oy o2 puFHuied 30 apSsTHIL, Bl o Ly 2 HuFSFHuied 70
M pSEHTHILD F1551% S 1916 (BBH HewL_SH DS

* Houstd pagd  HFxF OCsmfle, vl mxl  Qurglser  SUGLL g
P weuppPlesr 2 PLSHUD Femaweniownssd CFwWOLIGFDG. @eusiemred G
QTSI 'GLIy QUUTSRT 6TaT)l  FHousrd eopSsUULL g @)BFw
Ul L mxsafled  80% Heust@ulled swriassLiL@GSng. QBFwralear Glorss
9FFSGIMD 2 PLISHFalew 60% FeusmduledmECs OlLpLILIGS DI

o "gRuwraier G gmuill” erery OeewliOuwi QOupp Oseaienes, 9%s
61881618 o & Ul TasT eunEes 2 FFLITEg Clgmflevseand 6% messt(haTerg). $LOLHBT(H
L CLmOwrenuied wpmpid " CLr o Fiunssiser Cgmflparencvsalled Fevm
28%, ewrfls@pssreT 2 PpLSHUI® 19% wpHmid Lwenilwg i oD @)(h FoHeT

UTSHETBISHeN 6T 18% LIKIFHHem 6T 0% 1655 (5 GITATS).



o “larerevnenL B&ILD” TRIM HYdPSHLILGLD HpLiyd 3 eveSlwer L mei

LOBLILIGTET 460 L_HemaT IDDILOF) O\ FUIF DG,

198. On the basis of recommendations of which commission, the backward community got 31% and

SC/ST received 18% as reservation in 1971 in Tamilnadu ?

(a) Sattanathan Commission
(b) Kaka Kalelkar Commission
(c) Mandal Commission

(d) Shenbagarajan Commission

1971 16 e SOPHBTL Y6 LKIPLGSSLULL L Fepsmigar 31% wpmpid SC/ST
FupsmIsar 18% QL @FSSL L1 Oup LISTQU@GLD TES I ERTWS ST
LA g IS 6T auLflal s er?

(a) FL L _[bTS 6T ,60GwTUILD
(b) F155T HTCVEHT 60 GRTWI LD
(c) LDGSTL_GV 9,6WGWTIILD

(d) O\FGUTLISTTEGHT 4,6 GRTWI LD

Answer :(a) Sattanathan Commission

Explanation :

® Under the Chief Ministership of M.Karunanidhi, a commission was constituted under the
Chairmanship of Sattanathan to take into account on the welfare of backward community. It is on the
basis of the recommendations of the Sattanathan commission, the backward community got 31% and

SC/ST received 18% as a reservation in 1971.



o  (Lp.HHETHS Semewenouiew, LIPLRSSLILILGL TT BevesT GPISaH TTUIBFL
FLL_BISRT SOOI YT HWIDGSLILIL L & FL L BT 5LOeGT
ufipgieogsHeanast g LitieoL_ulled, 1971 b ety LIDLBSSLILIL G mhsE@ 31%,
STHSSLILL CL_ 155 @ 18% 6TasT Q)L &I5SL (B uILOL] LOTHPIGHLDSHLILIL L F).

199. The Chief Minister’s Thayumanavar Scheme announced by Tamil Nadu on 19th of February
2024 is focussed on which of the following objective ?

(a) To construct homes for the poor
(b) To lift the poor out of poverty
(c) To enhance primary education

(d) To provide medical assistance for the poor

icigeudl 19, 2024 a1l SLOPBHTR YTF WSS (LPSVMLDFFHST FTULOTETOIT
B 1 1) 196sr6uBLD 1B CHTESSP FauaTLd O)FISSHISmFI?

(@) T®PFHEhdGH @I (HH6T FL L LILIL 6D

(b) aTenLpFeEnar aumienLoulled @) (BB LB L 60
(c) odLs sevailenw GLoLdLi(h s eV

(d) GIOLPSH@H% S LO(5SHSHI 2 F @] 6 Lp BI%HE)

Answer :(b) To lift the poor out of poverty

Explanation :

® The Chief Minister’s Thayumanavar Scheme was announced by Tamil Nadu Finance Minister

Thangam Thennarasu on 19th of February 2024.



®  Thayumanavar scheme which is named after a Tamil poet and saint — aims to elevate roughly
five lakh of the state’s poorest households out of poverty. In the budget for 2024-2025, the Tamil
Nadu government additionally allotted Rs 27,992 crore for the program.

o wswaufler sruyneteui P L Feog FLOPS BFWedFi SEIFHD OFeTestIsn
Lgeurf 19, 2024 syevtm WIS T

o w5 50 sailepd wpmid gwaiuiesr Cluwgred Guwfi it sruioreTed
G LD - IBlVSHST TLHELOWTEST & BLOLBISaN6) HIDTT @BSH WL FLD LDSHHEET
aunemouled(hBg 2 wisgiauens GrrEswnss Olasrear(hererg. 2024-2025 SyLb
Y aThEsTesT LGl ged, LS ik  FmBSIE 527,992 Camgevw
@551 L 585515 puEHUS.

* 9h3s Quat(h YoThFHale), @& ADIGDW @bF WL FLD TWLPD
&P LOLEISE®ET aunien ufleS)BBg LS 0L (DS LpwFH D).

200. Which of the following teams won the Ranji Trophy that was recently held (2024)?

(a) Vidarbha
(b) Mumbai
(c) Tamil Nadu
(d) Baroda

FLELZH® FoL_Oupm Ly 5s 76H& Casmuemuuiled (2024) LaTau@pLd 615S
Iesstl Qeupp Quppl LIL L S8 SLILIDDwG?

(a) FFLIT
(b) (LpLOGOLI
(©) SBOHBHTH
(d) uGgmi_m



Answer - (B) Mumbai

AL
g6h&F CasaLienL: (LpLbeoLl 9jewfl 42-aig) (LpeODWITS FTLDLIWIGH

Explanation -

o 06HF Garrien @mu&Ls Gum’ g uied allgiLm o ewflenw 169 pgesrsar
s FWTFsFe0 afH3S) (LpLdew LI e 42-0ug| (Lpewpwns  CEHrLieo LW
& LILID YU GTOTS.

o @muBLICUTL 19 ulles YL L BTWEESTTS (Lpafif HTILD , O\FTLJ HTWSHCTTS
say Camguwneyd Csip0l%HESLILIL L 6oy,

e Mumbai defeated Vidarbha by 169 runs in the Ranji Trophy final and won the trophy for

the 42" time.

e Musheer Khan was adjudged Man of the Match in the final game. Tanush Karunakar

Kotian got the award of Man of the Tournament.
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